’rbeneﬁt

Caliper Repair Kits

KNORR BREMSE SERIES
1...102

www henefitauto.com.tr f ¥ (@ /benefitcaliper



- SERIES ’rbeneﬁt

Caliper Repair Kits

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB5 SERIES

Caliper Repair Kits

PART NO Caliper Guide & Bush Repair Kit MAN 81 50822.6009 - NEOPLAN 11015565 - IVECO 9316 2049
- 1554 P p =Tl MB 000 420 1282 - 000 420 0782 - SCANIA 1798063
DAF 1448915 - 1142142 - 1198153 - 1198154

ARC NO DESCRIPTION OF GOODS m

CEIT) 1328090062 - 11369100062

2001  Caliper Pin @ 36x145 mm
2005 Caliper Pin @ 34x80 mm
3002 Pin Bolt M16x1,5x 150 mm
3004 Pin Bolt M16x1,5x 80 mm

1005 Bellow (Red)

. Y . ‘ § v 6002  Fiber O-ring

1555 1558
E1%) | k000935 1) | 1368470064

1006  Bellow (Black)
6001  Clamp
4002  Bushing @ 40x36x82 mm

— PN - BES 0 EY - EY =S

1007  Plastic Bushing

SAF : 03.434.3802.00 DAF 1448910 - SAF 03.434.3801.00 MB 050 121 2199

1664 1596
(oEm no [ I 1350470061

KNORR-BREMSE

VEHICLES | \"/=L | [N =3 MB 001 420 6683 - MAN 81.50822.6005

1562 1509
[oem o [ %) | 1370760065

“‘

A"/ =L [¢|R=13 BPW 09.801.06.34.0 A= (B =3 MB 000 420 1382

@ benefitauto.com.tr o o @ Ibenefitcaliper n ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB5 SERIES

VEHICLES

1545

VEHICLES [ VEHICLES [

e 1538 Calibration Bolt 1587 Calibration Shaft Chain

13,20 mm

KNORR-BREMSE

12 Link

VEHICLES [ VEHICLES ==

1591 Pinion Shaft Gear 1660 Caliper Lever Support

VEHICLES [ VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper n ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbeneft SB5 SERIES
Caliper Repair Kits

ARC NO DESCRIPTION OF GOODS

1625 3 Lines Mercedes Type Sensor

1625-1 3 Lines Man Type Sensor
1626 2 Lines Man Type Sensor
1627 Without Sensor

Caliper Repair Kit Complete ( 12-160 MAN )

12 Link

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1509  Caliper Repair Kit 1538  Calibration Bolt
1547 Roller Bearing Set 1591 Pinion Shaft Gear
1554 Caliper Guide & Bush Repair Kit 1545 Caliper Bridge Assembly Set

1540  Pinion Shaft 1587  Calibration Shaft Chain
1581 Caliper Cover Set

KNORR-BREMSE

R G G QR
[T O =Y

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB5 SERIES ’rbeneﬁt

Caliper Repair Kits

KNORR-BREMSE

@ benefitauto.com.tr o o @ Ibenefitcaliper ° ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




,rbeneft SN5 SERIES

Caliper Repair Kits

1572 Caliper Guide & Bush Repair Kit

I Koo1928

A= [H =) MAN 81.50822.6026 - BPW 09.801.07.05.0 - MERCEDES 000 420 4182

ARGNG | DESCRIPTIONOF GOODS | DIMENSION | PCS ]

2007 cCaliper Pin @ 30x99 mm 1
2008 cCaliper Pin @ 30x72 mm 1
3006 Pin Bolt M16x1,5x105 mm 1
3007 Pin Bolt M16x1,5x75 mm 1
1010 Bellow (Red) 2
4003 Bushing @ 34x30x65 mm 1
4004 Bushing @ 34x30x20 mm 1
1038 Plastic Ring 2
7005 Bolt Plug @ 34x14 mm 2

v 1512 Caliper Repair Kit MAN 81 50822, 6007

S ooz e
1037  Trust Part With Bellow @ 69mm
1002  Shaft Body Dust Rubber @ 69mm 1
4001 Bushing @ 18x16x10mm 1

Back View

&"‘_\(\\
N ReS

e®

PART NO I U K Caliper Repair Kit V=R MB 000 420 4282
m K097826K50
ARC NO DESCRIPTION OF GOODS m-

1037  Trust Part With Bellow @ 69mm
4001  Bushing @ 18x16x10mm

-

KNORR-BREMSE

Back View

VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN5 SERIES

Roller Bearing Set

Calibration Bolt

13,20 mm

VEHICLES [ s

1594 Caliper Cover Set

M8x1.25x16 mm

KNORR-BREMSE

VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper

VEHICLES [

1544 Caliper Bribge Assembly Set

\Y= ¢l y

1595

g
L= B = B =

VEHICLES [

1541 Calibration Shaft Chain

VEHICLES |

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbeneft SN5 SERIES

Caliper Repair Kits

1583 1579
T kooo133 I | k000029

~ i eeeas

_S VN2, P CW W e Y

MB 000 423 4687 - MAN 81.50822.6021 - DAF 1459407
\"/=; 1[8-8 MB 000 420 2582 - OTOKAR 13C3305630AA VEHICLES RENAULT 5021 175 269 - SAF 03.434.3816.00

s - I w0
ARC NO DESCRIPTION OF GOODS

1622 3 Lines Mercedes Type Sensor

1622-1 3 Lines Man Type Sensor
)

> Back View 1623 2 Lines Sensor

J/ 1624 Without Sensor

KNORR-BREMSE

M8x1.25x16 mm

(=

14 Link

09;. m

2 18x16x10mm

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1572 Caliper Guide & Bush Repair Kit 1 1541 Calibration Shaft Chain
1592 Roller Bearing Set 1 1543 Adjusting Pinion Gear

1540 Pinion Shaft 1 1538 Calibration Bolt
1
1

- = A A

1544  Caliper Bridge Assembly Set 1594 Caliper Cover Set
1502 Caliper Repair Kit

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN5 SERIES ’rbeneﬁt

Caliper Repair Kits

KNORR-BREMSE

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kits

1554

CEIT) 1328090062 - 11369100062

Caliper Guide & Bush Repair Kit

1685
I 1339680062

VEHICLES

Caliper Guide & Bush Repair Kit

1555
I Ko00935

AN 81 50822.6009 - NEOPLAN 11015565 - IVECO 9316 2049

M
\/=L B8 MB 000 420 1282 - 000 420 0782 - SCANIA 1798063

DAF 1448915 - 1142142 - 1198153 - 1198154

SCANIA 1390427

ONLY SB7 SERIES

A/ =L [GR =Y SAF : 03.434.3802.00

ARC NO DESCRIPTION OF GOODS m

2001  Caliper Pin @ 36x145 mm 1
2005 Caliper Pin @ 34x80 mm 1
3002 Pin Bolt M16x1,5x 150 mm 1
3004 Pin Bolt M16x1,5x 80 mm 1
1005 Bellow (Red) 1
6002  Fiber O-ring 1
1006  Bellow (Black) 1
6001 Clamp 1
4002  Bushing @ 40x36x82 mm 1
1007  Plastic Bushing 1

2001  Caliper Pin @ 36x145 mm 1
2005 Caliper Pin @ 34x80 mm 1
3002 Pin Bolt M16x1,5x 150 mm 1
3001 Pin Bolt M16x1,5x 85 mm 1
1005 Bellow (Red) 1
6002  Fiber O-ring 1
1006 Bellow (Black) 1
6001 Clamp 1
4002 Bushing @ 40x36x82 mm 1
1007 Plastic Bushing 1

ARC NO DESCRIPTION OF GOODS m

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

2001  Caliper Pin @ 36x145 mm 1
3002 Pin Bolt M16x1,5x 150 mm 1
1005 Bellow (Red) 1
6002  Fiber O-ring 1
1006 Bellow (Black) 1
6001 Clamp 1
4002 Bushing @ 40x36x82 mm 1

KNORR-BREMSE

1557

%) 000132 - 11350470062

Caliper Guide & Bush R

INPIIN WIAN 81 50822.6006 - IVECO 9713 1439 BPW : 09.801.02.51.0
MB 000 420 1082 - 000 420 2182 - SETRA 8285515563
ARC N DESCRIPTION OF GOODS W

2002 Caliper Pin @ 36x135 mm

i : m 2005  Caliper Pin @ 34x80 mm
e : 3003  Pin Bolt M16x1,5x 140 mm
3001 Pin Bolt M16x1,5x 85 mm
1005 Bellow (Red)

6002  Fiber O-ring
1006  Bellow (Black)
6001 Clamp

4002  Bushing

1007  Plastic Bushing

@ 40x36x82 mm

N N N W = I G SN

a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

@ benefitauto.com.tr o o @ Ibenefitcaliper




SB6-SB7 SERIES

Caliper Repair Kits

1558 1664
X% 1368470064 [oem o [y

f
()
bl

\"/=L;| [ =3 DAF 1448910 - SAF 03.434.3801.00 MB 050 121 2199 VEHICLES [

1596 1599
%) 1350470061 CEIT) 1350470063

A=l | [R5 MB 001 420 6683 - MAN 81.50822.6005 A=, |[¢]H 28 BPW 09.801.02.58.0 - SAF 03.434.3803.00

Y] 1562 Caliper Bellow Kit 4002 Caliper Bushing

KNORR-BREMSE

\ S g
2 %

\e\

A=, [[e1B5) BPW 09.801.06.34.0 VEHICLES [

Caliper Guide & Bush Repair Kit MAN : 81.50822.6019 - 81.50822.6034 SCANIA : 1527631
1568 I VECo o5 1412 8PW - 0501.06 350 SAF - 05 454381 20,0

m K000472 MERCEDES : 000 420 4682 SCHMITZ : 017478 DAF : 1639100
[ACNO | DESCRPTIONOF 5000S | DIWENSION | s ]
: A ‘ 2003  Caliper Pin @ 36x114 mm
i m 2004  Caliper Pin @ 32x80 mm
- 3001  Pin Bolt M16x1,5x85 mm
3004  Pin Bolt M16x1,5x80 mm
4002 Bushing @ 40x36x82 mm
1009  Caliper Pin Bush - Long @ 73x40x39 mm

1005 Bellow (Red)

6002 Fiber O-ring

7003  Caliper Pin Ring

7002  Caliper Pin Cap @ 40x15 mm

%

—_—

\ ngﬁ

[0 73x40x39 mm

S N e = Y NN

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kits

1673 Caliper Guide & Bush Repair Kit WP SAF 03.434.3820.00 - 03.434.3812.00 - HALDEX RDBO67417K
TRP 2169198 - MAN 81.50822.6043 - IVECO 42575089 - DAF 1929023
EET  K067417K50 - K002845

ARC NO DESCRIPTION OF GOODS m

‘ 2003  Caliper Pin 2 36x114 mm

. e le 2004 Caliper Pin © 32x80 mm
0_ - 3001  Pin Bolt LS SXES I
N\ 3004  Pin Bolt M16x1,5x80 mm
VW 4002  Bushing @ 40x36x82 mm
‘ > W 1009  Caliper Pin Bush - Long @ 73x40x39 mm

1005  Bellow (Red)

9 6002  Fiber O-ring
.- 7001  Bolt Plug

\ 6003  O-ring

7003 Bolt Plug

~e\ A 7002 Bolt Plug  40x15 mm
’ \\ 6133  Ring

1614 Caliper Guide & Bush Repair Kit RIS BPW 09.801.06.24.0 - MB 000 420 2982 - MAN 8150822.6023
IVECO 4253 8002 - SMB M91004801
EI Ko00375

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

73x40x39 mi

G GG GG G G Y

1005 Bellow (Red)
6002 Fiber O-ring
7001 Bolt Plug
6003 O-ring

7003 Bolt Plug

\
73x40x39 m

\JO"""

1602 Caliper Guide & Bush Repair Kit TRETEREE
K001532
— (w0 | oescrerion oF Goons | omENsion | rcs

. A— 2003 Caliper Pin @ 36x114 mm 1

iz m 2004  Caliper Pin @ 32x80 mm 1

- 3001  Pin Bolt M16x1,5x85 mm 1
3004 Pin Bolt M16x1,5x80 mm 1

‘V“'w" 4002  Bushing © 40x36x82 mm 1
@ W 1009  Caliper Pin Bush - Long @ 73x40x39 mm 1
1

1

1

1

1

. A 2003 Caliper Pin @ 36x114 mm
ik m 2004 Caliper Pin @ 32x80 mm
- 3001  Pin Bolt M16x1,5x85 mm
3004 Pin Bolt M16x1,5x80 mm
‘V“mu 4002  Bushing @ 40x36x82 mm
W 1049 Caliper Pin Bush - Long @ 73x40x35 mm

KNORR-BREMSE

1005 Bellow (Red)
6002 Fiber O-ring
7001 Bolt Plug
6003 O-ring

7003 Bolt Plug

\
73x40x35 m

1665 Caliper Guide & Bush Repair Kit [ [
K052759K50
Exn (e o | oescrerion oF Goons | omeNsion | rcs

N I T = Y= G W Gy

1005  Bellow (Red)
6002 Fiber O-ring
7002 Bolt Plug @ 40x15 mm

[ ‘ L 2003  Caliper Pin @ 36x114 mm 1
2046 Caliper Pin @ 32x88.5mm 1

3001 Pin Bolt M16x1,5x85 mm 1

3004 Pin Bolt M16x1,5x80 mm 1

4002 Bushing @ 40x36x82 mm 1

1009  Caliper Pin Bush - Long @ 73x40x39 mm 1

1

1

1

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kits

1686 Caliper Repair Ki VEHICLES [
m K000421

ARGNO | DESCRIPTIONOF GOODS | DIMENSION | PGS )

2004 Caliper Pin @ 32x80 mm
3004 Pin Bolt M16x1,5x80 mm
.7 . I W'“, 1049  Caliper Pin Bush - Long
- 7003  Caliper Pin Ring
7028  Steel

N =

@ 73x40/35 mm

1569 1507
X% k000698 - K058088 I Koo0697

X h3 THHIAII
)

\9)
oAl
@ 73x40/39 mm o @ 73x40/39 mm

\"/=L | [¢H =53 BPW 09.801.06.91.0 SAF 03.434.3813.00 VEHICLES -

el 1600 Caliper Guide & Bush Repair Kit 1601 Caliper Guide & Bush Repair Kit

()

AR 111111
@ 73x40/35 mm - @ 73x40/35 mm

A=l |[¢{R =3 BPW : 09.801.06.90.0 VEHICLES -

1666 Caliper Guide & Bush Repair Kit 1667 Caliper Guide & Bush Repair Kit

KNORR-BREMSE

[y
@ 73x40/39 mm o @ 73x40/39 mm

VEHICLES [ VEHICLES S

1009 Caliper Pin Bush - Long 1049 Caliper Pin Bush - Long

WY cN

2
@ 73x40/39 mm @ 73x40/35 mm

A= (¢ R) BPW : 02.1410.21.00 A=, 1[e1N2] BPW : 02.1410.22.00

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

A= [¢E =8 MB 000 420 2282 - 000 420 3482

Caliper Repair Kits

1571
X% Koooses

Caliper Guide & Bush Repair Kit

2003 Caliper Pin
2004 Caliper Pin
2005 Caliper Pin
3001 Pin Bolt

3004 Pin Bolt

1005 Bellow (Red)
6002 Fiber O-ring
4002 Bushing

1008 Caliper Pin Bush - Short
7001 Bolt Plug

6003 O-ring

7002  Bolt Plug

1007 Plastic Bushing

A

T TS

e LM

af

‘b ‘nmmlnm-u.

@ 55x40/39mm

1606

X% Ko10813
3005 Pin Bolt

ﬁ | i
b ity
4002 Bushing

; “ ’ 4005 Bushing
o ” 1005  Bellow (Red)

Caliper Guide & Bush Repair Kit

A=l [ =] MAN 81.50822.6033

2003 Caliper Pin
2006 Caliper Pin
3001 Pin Bolt

J 6002  Fiber O-ring
7001 Bolt Plug
6003 O-ring

F ﬂr__ 7004 Bolt Plug
\‘, ,—(G \\y ONLY SB7 SERIES
7\ \ "

1570

CETT] k000696 - 11310370066

Caliper Guide & Bush Repair Kit

2003 Caliper Pin
3001 Pin Bolt

1005 Bellow (Red)
6002 Fiber O-ring r
4002 Bushing

7001 Bolt Plug
6003 O-ring

ONLY SB7 SERIES

1593

e

m K031844K50 - K011117 - K031844K55

2003 Caliper Pin

2031 Caliper Pin

3001 Pin Bolt

3004 Pin Bolt

4002 Bushing

1005 Bellow (Red)

6002 Fiber O-ring r

7001 Bolt Plug

6003  O-ring

1048 Caliper Bush

7002  Bolt Plug

1055  Fiber O-ring (Red)

1056 Bellow (Black)

7020 Bolt Plug

uumm\\!luln.

@ benefitauto.com.tr o o @ Ibenefitcaliper m

@ 36x114 mm

@ 32x80 mm

@ 34x80 mm
M16x1,5x85 mm
M16x1,5x80 mm

@ 40x36x82 mm
@ 55x40/39mm
@ 40x15 mm

@ 36x114 mm

@ 36x64 mm
M16x1,5x85 mm
M16x1,5x70 mm
@ 40x36x82 mm
@ 40x36x20 mm

@ 40x25mm

VEHICLES SAF 03.434.3805.00 - 8.443.4371.00.0
SCANIA 1477675 - MB 002 420 0383 - BPW 09.801.02.97.0

ARC NO DESCRIPTION OF GOODS m

@ 36x114 mm
M16x1,5x85 mm

@ 40x36x82 mm

@ 36x114 mm
@ 32x84 mm
M16x1,5x85 mm
M16x1,5x80 mm
@ 40x36x82 mm

@ 40x15mm

@ 42x36.5mm

ARC NO DESCRIPTION OF GOODS m

g R R R ) S

=9 SO Y EY . e Y

= SN . = . N

ARGNG | DESCRIPTIONOF GOODS | DIMENSION | PCS ]

B o =N . . B (N BN s

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



e SB6-SB7 SERIES
@ Turke;

1556
CI 139769F0062

Caliper Repair Kits

\"/=L|[¢E 53 IVECO 4253 7451

ARC NO DESCRIPTION OF GOODS m

- | I Y 2003 Caliper Pin 0 36x114 mm
& A}
f di | . 2005 Caliper Pin @ 34x80 mm
stad — 3001 Pin Bolt M16x1,5x85 mm

1005 Bellow (Red)
6002 Fiber O-ring
4002 Bushing

1007 Plastic Bushing
7001 Bolt Plug

6003 O-ring

@ 40x36x82 mm

Sociad

O

1576

CEXT) 1179320062 - 1130413/0062

- BN B N S

Caliper Guide & Bush

\"/=L ([ 8 =8 DAF B230397 - MB 050 121 0167

ARGNG | DESCRIPTIONOF GOODS | DIMENSION | PGS ]

. 2002 Caliper Pin @ 36x135 mm

m 2037 Caliper Pin  34x120 mm
3003 Pin Bolt M16x1,5x140 mm
3034 Pin Bolt M16x1,5x125 mm

J - 4002  Bushing @ 40x36x82 mm
i ﬂa;w«!ﬂiﬁdhd 1051  Plastic Bushing

o 1052 Bellow (Black)

1053  Dust Cover

6001 Clamp

= SN o ENN . N

Caliper Guide & Bush R

1575

CEXT) 1358510062 - 11339680062

MB 000 420 1182 - SCANIA 1415149 - 1390427
MEEEEs) RENAULT 0501 211 047

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

KNORR-BREMSE

Caliper Guide & Bush Rep.

I Koooes?

D &Y

@ benefitauto.com.tr o o @ Ibenefitcaliper

. 2001 Caliper Pin @ 36x145 mm 1
m 2004  Caliper Pin @ 32x80 mm 1

3002 Pin Bolt M16x1,5x150 mm 1

3004 Pin Bolt M16x1,5x80 mm 1

4002 Bushing @ 40x36x82 mm 1

b W 1008  Caliper Pin Bush - Short @ 55x40x39mm 1
\ S 1005  Bellow (Red) 1
6002 Fiber O-ring 1

1006 Bellow (Black) 1

6001 Clamp 1

2001 Caliper Pin @ 36x145 mm 1
m 2037 Caliper Pin @ 34x120 mm 1
3002 Pin Bolt M16x1,5x150 mm 1
3034  Pin Bolt M16x1,5x125 mm 1
1005 Bellow (Red) 1
6002 Fiber O-ring 1
4002 Bushing @ 40x36x82 mm 1
1006 Bellow (Black) 1
6001 Clamp 1
1051 Plastic Bushing 1

@ 55x40x39mm

A=, 1[elB=-F DAF 1603326

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kits

ART Caliper Guide & Bush Repair Kit
1 578 P P A= I[N MAN 81.50822.6006

I 11197140062

— i ) 2002 Caliper Pin @ 36x135 mm
; ' 2005  Caliper Pin @ 34x80 mm
: 3001  Pin Bolt M16x1,5x85 mm
3003 Pin Bolt M16x1,5x140 mm
4002 Bushing @ 40x36x82 mm

1007 Plastic Bushing
1052 Bellow (Black)
6001 Clamp

1054  Rubber Tap

— (ESN . B . B N

-89

1603 Caliper Guide & Bush Repair Kit SERCTA R
11197330062
€ [5-0w0 | oesoreion or Gooos | omension | rcs

— 2002 Caliper Pin @ 36x135 mm
" 2005  Caliper Pin @ 34x80 mm
3001 Pin Bolt M16x1,5x85 mm
3003  Pin Bolt M16x1,5x140 mm
4002 Bushing @ 40x36x82 mm

1007 Plastic Bushing
1052 Bellow (Black)
6001 Clamp

1053 Dust Cover

— BN . BN N (s

KNORR-BREMSE

e 868

1670 Caliper Guide & Bush Repair Kit [
K048396K50
e (oo | oescremon or Gooos | _omension | _ecs
— 1 - A 2003 Caliper Pin @ 36x114 mm
tedl “ 2004  Caliper Pin © 32x80 mm

3001 Pin Bolt M16x1,5x85 mm

3004 Pin Bolt M16x1,5x80 mm

iy A 4002 Bushing @ 40x36x82 mm
TSIt 1105 Caliper Pin Bush - Short @ 55x40x35mm

6002  Fiber O-ring
7001  Bolt Plug
6003  O-ring

&> q 1005  Bellow (Red)
m

| @ 55x40x35m

0@

1687 Caliper RepairKit [
@ (50w | osorPioN oF 60005 | DiENsioN | pos

BN . BN, BN BN

2004  Caliper Pin @ 32x80 mm 1

: e 3004 Pin Bolt M16x1,5x80 mm 1

e : am 1008  Caliper Pin Bush - Short 1
7028  Steel 2

13!

@ 55x40x39mm

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kits

PART NO Caliper Guide & Bush Repair Kit
&S 1716 P P =3 [[WB=] MERCEDES : 000 423 1450
ARCING DESCRIPTION OF GOODS | DIMENSION | _PCS

A 2003 Caliper Pin @ 36x114 mm 1
m 2004 Caliper Pin @ 32x80 mm 1
3001  Caliper Pin Bolt M16x1,5x85 mm 1

3004 Caliper Pin Bolt M16x1,5x80 mm 1

7002 Caliper Pin Cap @ 40x15 mm 1

6133  Caliper Ring 1

1008 Caliper Pin Bush Short @ 39 mm 1

1005 Caliper Pin Dust Cocer 1

6002 Caliper Fiber O-Ring 1

4002 Caliper Pin Bush @ 40x36x82 mm 1

1565 Caliper Guide & Bush Repair Kit

—

*ae

__m-—-* .
@ 55x40%39mm

@ 55x40x39mm™

A

R

VEHICLES — VEHICLES [

1566 Caliper Guide & Bush Repair Kit 1008 Caliper Pin Bush Short

' . i

' @ 55x40x39mm

KNORR-BREMSE

a®

@ 55x40x39mm

VEHICLES (S VEHICLES [

1715 Caliper Adjusting Stick For Sensér 1717 Caliper Cover Gasket Set

- o Garoche

VEHICLES [ VEHICLES |

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbene T SB6-SB7 SERIES

Caliper Repair Kits

1688 Caliper Guide & Bush Repair Kit 1689 Caliper Guide & Bush Repair Kit
=) | 1339830064 (0w No [
e\

[} iy y
h——'ﬁ
| - e
- > uuﬂa’u&\h fis
----- -----

1596 1582
I 1350470061 I 1328090061

 me
858 566

BPW 09.801.06.11 - 0 09.801.02.60.0 - MAN 81.50822.6008 - DAF 1448914
\"/=,|[e]H =] MB 001 420 6683 - MAN 81.50822.6005 VEHICLES MB 001 420 5283 - IVECO 9316 2049

f

1581 1562
%) 139769F0063 loeno [

’,‘ ‘v ; \(\\

X

A=, 1[e1B 2] SAF 03.434.3806.00 A=, |[eiB =3 BPW 09.801.06.34.0

1599 1604
CEXT) 1350470063 CEXT) 11344730063

e

A= (¢85 BPW 09.801.02.58.0 - SAF 3.434.3803.00 \"/=, [ BS) MAN 81.50822.6010 - DAF 1448600

1615 1048
X% 1197140063 [oem o [y

8

VEHICLES [ s VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE




SB6-SB7 SERIES

Caliper Repair Kits

ir Kit Complete

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1003  Trust Part With Bellow 1527  Adjusting Mechanism Shaft
1004  Shaft Body Dust Rubber 1528  Pinion Shaft

4001 Bushing 1538 Calibration Bolt

1529 Caliper Bridge Assembly 5001 Spring / BecHa

1590 Leveller

1547 Roller Bearing Set
1539 Calibration Shaft Chain

_ A A A NN
= W1 - =

Caliper Repair Kit Complete

KNORR-BREMSE

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1003  Trust Part With Bellow 1527  Adjusting Mechanism Shaft 1
1004 Shaft Body Dust Rubber 1528 Pinion Shaft 1
4001 Bushing 1538 Calibration Bolt 2
1529 Caliper Bridge Assembly 5001 Spring / BecHa 1
1663 Leveller

1547 Roller Bearing Set
1539 Calibration Shaft Chain

A A A a NN DN

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kit Complete

1003
1004
4001
1529
1522
1547
1539

-

—-

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

Caliper Repair Kit Complete

1003
1004
4001
1529
1524
1547
1539

@ benefitauto.com.tr o o @ Ibenefitcaliper

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

>

A A A aNNN

A A A aNNN

1527
1528
1538
5001

1527
1528
1538
5001

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring / BecHa

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring / BecHa

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1
1
2
1

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1
1
2
1

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



KNORR-BREMSE

SB6-SB7 SERIES

ir Kit Complete

1003
1004
4001
1529
1525
1547
1539

Gl 1692

=

E

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

Kit Complete

1003
1004
4001
1529
1668
1547
1539

@ benefitauto.com.tr o o @ Ibenefitcaliper

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

_ A A A NN

= =N o BN N RN

1527
1528
1538
5001

1527
1528
1538
5001

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring / BecHa

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring / BecHa

Caliper Repair Kits

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

AN 2

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1
1
2
1

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rben fit SB6-SB7 SERIES 2

Caliper Repair Kits @' xﬁ%@%% B

Caliper Leveller Caliper Leveller

VEHICLES [ s

Caliper Leveller 1524 Caliper Leveller

VEHICLES [ VEHICLES [

1525 Caliper Leveller 1668 Caliper Leveller

KNORR-BREMSE

VEHICLES [

Roller Bearing Set 1547 Roller Bearing Set

VEHICLES [ VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kits

1681

VEHICLES - VEHICLES [

1655 IR S

VEHICLES = VEHICLES [

1657 I S

VEHICLES s VEHICLES |

Calibration Bolt 1539 Calibration Shaft Chain

KNORR-BREMSE

13,20 mm

29 'Link

VEHICLES === VEHICLES |

1542 Adjusting Shaft Gear 1613 Calibration Nut

“ e @
A A K

Ce
e

VEHICLES == \'/=L, [ B0y HALDEX RDB802455K

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper RepairKit [

ARC NO DESCRIPTION OF GOODS W

1007  Plastic Bushing
1011  Plastic Cover

1003  Trust Part With Bellow @74mm 2
1004 Shaft Body Dust Rubber @74mm 2
4001 Bushing @ 18x16x10 mm 2
1005 Bellow (Red) 1
6002 Fiber O-ring 1
1006 Bellow (Black) 1
6001 Clamp 1
4002 Bushing @ 40x36x82 mm 1
7001 Bolt Plug 1
6003 O-ring 1

1

1

Caliper RepairKit [

ARC NO DESCRIPTION OF GOODS W

1003 Trust Part With Bellow @74mm
‘ 1004 Shaft Body Dust Rubber @74mm
% 4001  Bushing @ 18x16x10 mm

1005 Bellow (Red)

-y 6002  Fiber O-ring

E R 1006  Bellow (Black)
\ : 6001 Clamp

1007 Plastic Bushing
~
. : D . ( .

Caliper Cover Set
1577 P M MAN 81.50822.6025 - DAF 1439494
I Koo1301
ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

= A A A a NN

KNORR-BREMSE

1006 Bellow (Black) 6
6001 Clamp 6
7001 Bolt Plug 6
6003  O-ring 6

1506 Caliper Repair Kit
CEXT)  K000944 - K010604 - K010606 - K015542

MAN 8150822 6007 - 81 50822 6022 - 81 50822 6032
VPTSY BPW 09.801.02.63.0 - IVECO 9316 2050 - 4255 3530 - SAF 3.434.3804.00 -

DAF 1448913 - 1623221 - MB 000 420 0682 - 000 420 3982 - 000 420 4832
SCANIA 1759811 - 1390429 - 1746824 - 1756389 - 1743421

[AoNo | oESCRPTION OF GO0DS | _DMWENSION | PGS ]
1003  Trust Part With Bellow @74mm 2
1004  Shaft Body Dust Rubber @74mm 2
‘ 4001 Bushing @ 18x16x10 mm 2

| V¥ oo

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SB6-SB7 SERIES

Caliper Repair Kits

1507 1508
XTI 1179320065 - 11304130065 [0EM NO |

-

e .

~a\\

A=, |[¢1H 3-8 SCANIA 1390429 VEHICLES |

1509 1548
EI% 1370760065 G

A=, |[e1H =8 MB 000 420 1382 VEHICLES [

1530 Caliper Bridge Assembly - Set L
€3 [5-0w0 | oesoreion or Goons | omension | ros

1529 Caliper Bridge Assembly
1538  Calibration Bolt

5001 Spring

1548 Bushing For Leveller

— =S ES

KNORR-BREMSE

1531 Caliper Bridge Assembly 1529 Caliper Bridge Assembly

VEHICLES [ VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbeneﬁt SB6-SB7 SERIES

Caliper Repair Kits

Plastic Cover venicLes T
ARC NO DESCRIPTION OF GOODS

1551 3 Lines Mercedes Type Sensor

1551-1 3 Lines Man Type Sensor
1552 2 Lines Man Type Sensor
1553 Without Sensor

PART NO JEREL LR Plastic Cover vericLes T
ARC NO DESCRIPTION OF GOODS

1628 3 Lines Sensor
1629 2 Lines Sensor

1630 Without Sensor

PART NO LR Plastic Cover venicLES [
ARC NO DESCRIPTION OF GOODS

1616 3 Lines Sensor
N2

PART NO [ECEEL Plastic Cover vEHICLES (R
ARC NO DESCRIPTION OF GOODS

1619 3 Lines Sensor

1617 2 Lines Sensor
1618 Without Sensor

1620 2 Lines Sensor

1621 Without Sensor

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



VEHICLES [

1579
X% koo0029

Caliper Cover Set

VEHICLES MB 000 423 4687 - MAN 81.50822.6021 - DAF 1459407
RENAULT 5021 175 269 - SAF 03.434.3816.00

Caliper Lever Suport

KNORR-BREMSE

Caliper Cap Set

VEHICLES (S

@ benefitauto.com.tr o o @ Ibenefitcaliper

SB6-SB7 SERIES

Q0o

@ 38 mm

QA&&C O
s@scastass

’rbene

Caliper Repair Kits

1610
CEI%)  Ko00945

Qb

QeO®d

VEHICLES MAN 81.50822.6024 - DAF 1439493 - HALDEX RDB000945K

Caliper Cover Set

SCANIA 1390430

1584

Brake Pad Retainer Kit

O
T e ¢
e ———

VEHICLES |

1679

e o S 2

Caliper Cap Set

B-8-A-.3-50-

VEHICLES [

1678

LA 4 2R

VEHICLES |

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

Adjusting Shaft Gear




’rbenef t

Caliper Repair Kits

1693
m K000946

Brake Pad Retainer Kit

Ao S
R \\’

- -

e e i i

A=l | [¢{B -3 SCANIA 1504808

1661

VEHICLES [

1672

® ® @

VEHICLES [

1676

Caliper Caps Kits

Caliper Caps Kits

Cover Bolt

L
AP AT CRRLLEALL

A ' ‘I“”‘””l”.‘;m
R\ 7L

¥

e
‘-‘ L R ) V/hnuh’nu-u..ru-;-m
_ P PN §
i"&q-m-w-‘ \gv’\1
Ry ~eV
: Mi4x2x52mm

VEHICLES (R

@ benefitauto.com.tr o o @ Ibenefitcaliper

SB6-SB7 SERIES

1662

Brake Pad Retainer Kit

. -
e )
= - LY
e e 2 X'y K -
! 5 \ =

VEHICLES

1671

Caliper Caps Kits

VEHICLES

1675

Wy 1V i 13
i

T Y 11+
P

i‘"'ﬂrwm i S
TR IR T

w LT
AR ARGk R

VEHICLES

L T T R LA LI A A L LA L RIR L L LR L

|

AUy

e
ARRARRARARRRARD,  WAALARAKAMA,

VkARARAMALR. SARALEMAARA

VEHICLES

Cover Bolt

M12x1,75x80mm

1677

i o
V2 ok i
g

M10x1:5x60mm

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



KNORR-BREMSE

SB6-SB7 SERIES

Brake Pad Retainer Kit

VEHICLES [

1696

Brake Pad Retainer Kit

VEHICLES [

1698

Brake Pad Retainer Kit

e, 36

VEHICLES [

1583 Brake Pad Retainer Kit
X% kooo133

14
1

— - e S —
.*ﬂ g\ wh
b — - . -7

A= | [¢E =3 MB 000 420 2582 - OTOKAR 13C3305630AA

@ benefitauto.com.tr o o @ Ibenefitcaliper

Caliper Repair Kits

CET) koo2311

VEHICLES [

Ziule 1697

Brake Pad Retainer Kit

—e_ Y

VEHICLES [E

1699 Brake Pad Retainer Kit

m K000129 - 1119712004 - 1130679004 - 11197120061

el

- e

— e <

'MB 000 420 2682 - 050 121 1049 - 627 420 0188 - DAF 1448911

MAN 36.50822.6001 - 36.50822.6005 - RENAULT 5021 175 165
NGB IVECO 42538004 - 97131548 - BPW 09.801.02.66.0 - 09.801.02.76.0

SCHMITZ 015420 - FRUEHAUF M100969 - M91000201

SAF 3.434.3807.00 - 3.434.3809.00 - 5.317.0026.00 - 8.531.7002.600

1712 Caliper Repair Kit

&> E>
-----

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




,rbenef t

Caliper Repair Kits

SB6-SB7 SERIES

Caliper Repair Kit Complete

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1506
1538
1527
1528

Caliper Repair Kit
Calibration Bolt

Adjusting Mechanism Shaft
Pinion Shaft

Caliper Repair Kit Complete

- AN -

1539
1531
1546
1561

Calibration Shaft Chain

Caliper Bridge Assembly Set
Roller Bearing Set

Caliper Guide & Bush Repair Kit

1
1
1
1

MAN TGA YENi MODEL (NEW MODEL) SET

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1506
1538
1527
1528

@ benefitauto.com.tr o o @ Ibenefitcaliper

Caliper Repair Kit
Calibration Bolt

Adjusting Mechanism Shaft
Pinion Shaft

_ AN -

1539
1531
1547
1561

Calibration Shaft Chain

Caliper Bridge Assembly Set
Roller Bearing Set

Caliper Guide & Bush Repair Kit

1
1
1
1

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



SB6-SB7 SERIES ’rbeneﬁt

Caliper Repair Kits

KNORR-BREMSE

@ benefitauto.com.tr o o @ Ibenefitcaliper




rbene SN7-SK7 SERIES

Caliper Repair Kits

1673 Caliper Guide & Bush Repair Kit SAF 03.434.3820.00 - 03.434.3812.00
X% Ko067417K50
2003 Caliper Pin 2 36x114 mm 1
2004  Caliper Pin @ 32x80 mm 1
3001 Pin Bolt M16x1,5x85 mm 1
3004 Pin Bolt M16x1,5x80 mm 1
4002  Bushing @ 40x36x82 mm 1
1009  Caliper Pin Bush - Long @ 73x40x39 mm 1
1005  Bellow (Red) 1
6002  Fiber O-ring 1
} 7001 Bolt Plug 1
6003  O-ring 1
7003 Bolt Plug 1
7002 Bolt Plug @ 40x15 mm 1
6133  Ring 1

1605 IVECO:42562855
CEIT Ko48371K50

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS

2003 Caliper Pin @ 36x114 mm 1
2004 Caliper Pin @ 32x80 mm 1
3001 Pin Bolt M16x1,5x85 mm 1
3004 Pin Bolt M16x1,5x80 mm 1
4002 Bushing @ 40x36x82 mm 1 m
1008  Caliper Pin Bush - Short @ 55x40x39mm 1 w
1005  Bellow (Red) 1
@ 55x40%x39mm 6002 Fiber O-ring 1
7001  Bolt Plug 1 E
A 6003 O-ring 1 m
o] IS :
N \
|
1561 Caliper Guide & Bush Repair Kit - m
A= [[¢/H=5) MAN 81.50822.6037 - DAF 1847716 - IVECO 4256 2856
)  K001915 - K048389K50 - K099604K50
[cio | oescrerionorcooos ——owension | roo— ()Y’
- — A . f 2003 Caliper Pin @ 36x114 mm 1
' 2004 Caliper Pin @ 32x80 mm 1 O
3001 Pin Bolt M16x1,5x85 mm q
3004 Pin Bolt M16x1,5x80 mm d Z
4002 Bushing @ 40x36x82 mm 1
S— 1008 Caliper Pin Bush - Short @ 55x40x39mm 1 !
4 1005  Bellow (Red) 1
6002 Fiber O-ring 1
7002 Bolt Plug @ 40x15 mm 1
g “
@ 55x40x39mm
el 1700 Caliper Guide & Bush Repair Kit MB 000 420 4362

X%  K001925 - K028451

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS

a - \ W 2039 Caliper Pin @ 36x102 mm 1
Ll m 2004  Caliper Pin @ 32x80 mm 1

3001 Pin Bolt M16x1,5x85 mm 1

A " ) 3004 Pin Bolt M16x1,5x80 mm 1

, A DMW“M 4038 Bushing @ 40x36x71 mm 1

B 1008  Caliper Pin Bush - Short @ 55x40x39mm 1

ﬁ ' 1005  Bellow (Red) 1
. 6002 Fiber O-ring 1

% 7002 Bolt Plug @ 40x15 mm 1

@ 55x40x39mm

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN7-SK7 SERIES

Caliper Repair Kits

1568 Caliper Guide & Bush Repair Kit SAF : 3.434.381.20.0 BPW : 09.801.06.33.0 MERCEDES : 000 420 4682
=CTGH=E] MAN : 81.50822.6019 - 81.50822.6034 SCANIA : 1527631
ET | Koooa72 DAF : 1639100 SCHMITZ : 017478 IVECO : 4254 1412

ARC NO DESCRIPTION OF GOODS m

. A= 2003 Caliper Pin @ 36x114 mm
. 2004 Caliper Pin @ 32x80 mm
- 3001  Pin Bolt M16x1,5x85 mm
3004 Pin Bolt M16x1,5x80 mm
V“‘&' 4002  Bushing @ 40x36x82 mm
. — 1009  Caliper Pin Bush - Long @ 73x40x39 mm

1005  Bellow (Red)

6002  Fiber O-ring

7003  Bolt Plug

7002 Bolt Plug @ 40x15 mm

— Y - ES - PES - EY S

@ 73x40x39 mm

1612 Caliper Guide & Bush " s
K001274 - K002716
e o | bescPrionor coops. | omENsioN |5

2 m«'[' 2039  Caliper Pin @ 36x102 mm
I o 2004  Caliper Pin @ 32x80 mm
3001 Pin Bolt M16x1,5x85 mm
S 3004 Pin Bolt M16x1,5x80 mm
A pm 4038  Bushing @ 40x36x71 mm
1009  Caliper Pin Bush - Long @ 73x40x39 mm

1005 Bellow (Red)

6002 Fiber O-ring

7003 Bolt Plug

7002 Bolt Plug @ 40x15 mm

N i e e S = = Y=Y

|:;73x40x39 mmj
Qo

1609 Caliper Guide & Bush RepairKit | [
% ko13007
cvo | oescrprion oF Goons | omeNsion | rcs

Vs . I 2003 Caliper Pin @ 36x114 mm
o _-,m 2006  Caliper Pin @ 36x64 mm
scsiaall 3001 Pin Bolt M16x1,5x85 mm

3005 Pin Bolt M16x1,5x70 mm

—— 6002 Fiber O-Ring

» Ut 1011 Plastic Cap
/ J AT, 7004  Pin Cap @ 40x25 mm

7002 Pin Cap @ 40x15 mm
1583 Brake Pad Retainer Kit

1549 Calibration Nut

4002 Pin Bush @ 40x36x82 mm

KNORR-BREMSE

= BN BN B B

1569 Caliper Guide & Bush Repair Kit
I | k000698 - K058088

==

z W|w\lHHHllnnmnllu
Ao

@ 73x40/39 mm

@ 73x40/39 mm

BPW 09.801.06.91.0
SAF 03.434.3813.00

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN7-SK7 SERIES

Caliper Repair Kits

1724 Caliper Guide & Bush RepairKit [ S
(cvo | oescrerion oF Goons | omeNsion | rcs

EI% K133158K50

1055 Fiber O-ring (Red)
1056 Bellow (Black)
7020 Bolt Plug @ 42x36.5mm

- 1 Y 2085 Caliper Pin @ 36x114 mm 1

L WWW. 2031 Caliper Pin @ 32x84 mm 1

' 3001  Pin Bolt M16x1,5x85 mm 1

3056 Pin Bolt M16x1,5x80 mm 1

' 4002  Bushing @ 40x36x82 mm 1
6002 Fiber O-ring r 1

o C_’ O 7001  Bolt Plug 1
6003 O-ring 1

e 1048 Caliper Bush 1

6 7002 Bolt Plug @ 40x15mm 1

) 1

\ 1

1723 i D
K034787K50
— oo | oescrimion or ooops | omexsion —rcs |

1 2076 Caliper Pin @ 36x114 mm

} 2004 Caliper Pin @ 32x80 mm
2031 Caliper Pin @ 32x84 mm
3001 Pin Bolt 2 M16x1,5x85mm

e T T T \ 3004  Pin Bolt @ M16x1,5x80mm
. \Ill‘i;lvlilli‘lﬂ;,‘lvlllm . ) 4002 Bushing @ 40x36x82mm
- ” / 1005 Bellow (Red)
9 3 6002 Fiber O-ring r
7001 Bolt Plug @ 50x28mm
6003 O-ring
\ 1048 Caliper Bush

7002 Bolt Plug @ 40x15mm
1055 Fiber O-ring (Red)
1056 Bellow (Black)

e 7020 Bolt Plug @ 42x36,50mm
.\ 4069 Plastic Bushing
p \ \-,._4/ 1009 Caliper Pin Bush (Long) @ 39mm
J 6133 Caliper Ring @ 35mm
E 73x40x39 m 7003 Caliper Pin Ring
Caliper Guide & Bush Repair Kit
171 P P /=3 1l0 =) SCANIA 2286677
CEI%)  K105599K55
ARGNG | DESCRFTIONOFGOODS | DIMENSION | PCs ]

=SS S S S S S S

KNORR-BREMSE

" T 2076 Caliper Pin @ 36x114 mm
o E U"MWW. 2031  Caliper Pin @ 32x84 mm
3001 Pin Bolt M16x1,5x85 mm
3004 Pin Bolt M16x1,5x80 mm
4002 Bushing @ 40x36x82 mm

fo mmlmuw

1005  Bellow (Red)
6002 Fiber O-ring r
7001 Bolt Plug
6003 O-ring

R'e 1048  Caliper Bush

" 7002  Bolt Plug @ 40x15mm
. { ? t 1055  Fiber O-ring (Red)
\ W o 1056  Bellow (Black)
( \ 7020  Bolt Plug @ 42x36.5mm
Smum 4069  Plastic Bushing @ 30x30mm
-PAR 1573 Caliper Guide & Bush Repair Kit VRIS MB 000 420 5082 - 000 420 5682 SAF 3.434.3815.00
SCHMITZ 1105586 - HALDEX RDB802455K

) k004100 - K010766 - K004168

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

=50 - PES - BES - ES - EY - ES 0 EY =S

\ . VY 2003 Caliper Pin 2 36x114 mm 1

ik . m 2006  Caliper Pin 2 36x64 mm 1

e B 3001  Pin Bolt M16x1,5x85 mm 1

A 3005  Pin Bolt M16x1,5x70 mm 1

% . 1005 Bellow (Red) 2

" ‘wl !" » ‘ 6002  Fiber O-ring 2

. 4005  Bushing @ 40x36x20 mm 1

g > 4002  Bushing @ 40x36x82 mm 1
&gz 7004  Bolt Plug @ 40x25mm 1

7002 Bolt Plug @ 40x15mm 1

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

@ benefitauto.com.tr o o @ Ibenefitcaliper




SN7-SK7 SERIES

Caliper Repair Kits

PART liper Guide & Bush Repair Ki
1606 Sl Sl & S Rl =GIB=E] MAN 81.50822.6033

EI ko10813

Voo e iy 2003  Caliper Pin @ 36x114 mm 1

b s m 2006  Caliper Pin @ 36x64 mm 1
— 3001  Pin Bolt M16x1,5x85 mm 1
3005 Pin Bolt M16x1,5x70 mm 1

, - 4002 Bushing @ 40x36x82 mm 1

m ‘ f 4005 Bushing @ 40x36x20 mm 1
n —— 1005  Bellow (Red) 2
6002 Fiber O-ring 2

7001 Bolt Plug 1

6003 O-ring 1

7004 Bolt Plug @ 40x25mm 1

1701 Caliper Guide & Bush Repair Kit [ _ [
K002872
— [cwo | oscerion o cooos | omension s

T Koo1691 X% Koo1692

Tpos . VY 2003 Caliper Pin @ 36x114 mm 1
i G 2075  Caliper Pin @ 36x70 mm 1
sccthzaf 3001 Pin Bolt M16x1,5x85 mm 1
m 3005  PinBolt M16x1,5x70 mm 1
’ ‘ - 1005 Bellow (Red) 2
Mo 2 i -ri 2
m nmwamwu 600! Flber.O ring
4067 Bushing @ 40x36x20 mm 1
4002 Bushing @ 40x36x82 mm 1
7058 Bolt Plug @ 40x31mm 1
m 7002 Bolt Plug @ 40x15mm 1
|
m 1702 Caliper Gui ir Ki 1703 Caliper Guide & Bush Repair Kit

s . Y 1

‘ ‘ Y
¥ &/ v}

¢

VEHICLES [

1731 Caliper Guide & Bush Repair Kit Caliper Guide & Bush Repair Kit

risim I

VEHICLES [ VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbeneﬁt

Caliper Repair Kits

1719

Caliper Repair Kit

e

| @ hg VA 53
’ ™ | —

N\ e

VEHICLES [

1705

Caliper Cap Kit

— £ v)
@ 40x15 mm

s

VEHICLES [

1684

Caliper Plastic Cover

SN7-SK7 SERIES 2. I

@ Turk

4002 Caliper Pin Bush 40x36x82mm

VEHICLES

1706

Caliper Cap Kit

@ 40x25 mm
A} & i
oW

VEHICLES (S

1732

Caliper Metal Cover

@ benefitauto.com.tr o o @ Ibenefitcaliper

VEHICLES S

Plastic Cover VEHICLES [

ARC NO DESCRIPTION OF GOODS

1551 3 Lines Mercedes Type Sensor
1551-1 3 Lines Man Type Sensor

1552 2 Lines Man Type Sensor

1553 Without Sensor

VEHICLES (S

ARC NO DESCRIPTION OF GOODS

1628 3 Lines Sensor
1629 2 Lines Sensor

1630 Without Sensor

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



KNORR-BREMSE

SN7-SK7 SERIES

Caliper Repair Kits

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1001
1002
4001
1532
1523
1546
1539

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

Caliper Repair Kit Complete

_ A A aAaNMNN

1527
1528
1538
5001

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring

AN =2 A

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1001
1002
4001
1532
1526
1546
1539

@ benefitauto.com.tr o o @ Ibenefitcaliper

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

_ A A aNdMNDN

1527
1528
1538
5001

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring

1
1
2
1

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




,rbenef t

Caliper Repair Kits

1518

SN7-SK7 SERIES

Caliper Repair Kit Complete

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1001
1002
4001
1532
1521
1546
1539

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

Caliper Repair Kit Complete

- A A A NN

1527
1528
1538
5001

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring

= 5] = B

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1001
1002
4001
1532
1588
1546
1539

@ benefitauto.com.tr o o @ Ibenefitcaliper

Trust Part With Bellow
Shaft Body Dust Rubber
Bushing

Caliper Bridge Assembly
Leveller

Roller Bearing Set
Calibration Shaft Chain

_ A A aNdMNN

1527
1528
1538
5001

Adjusting Mechanism Shaft
Pinion Shaft

Calibration Bolt

Spring

1
1
2
1

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



SN7-SK7 SERIES

Caliper Repair Kits

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1001  Trust Part With Bellow 1527  Adjusting Mechanism Shaft
1002  Shaft Body Dust Rubber 1528  Pinion Shaft

4001 Bushing 1538 Calibration Bolt

1532  Caliper Bridge Assembly 5001 Spring

1586 Leveller

1546  Roller Bearing Set
1539 Calibration Shaft Chain

A A A aAaNNN
- N = -

Caliper Repair Kit Complete

KNORR-BREMSE

1001  Trust Part With Bellow 2 1527  Adjusting Mechanism Shaft 1
1002  Shaft Body Dust Rubber 2 1528  Pinion Shaft 1
4001 Bushing 2 1538  Calibration Bolt 2
1532  Caliper Bridge Assembly 1 5001  Spring 1
1
1
1

1634  Leveller
1546  Roller Bearing Set
1539 Calibration Shaft Chain

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




,rbeneft SN7-SK7 SERIES

Caliper Repair Kits

Caliper Repair Kit Complete

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1001 Trust Part With Bellow 1653  Adjusting Mechanism Shaft
1002  Shaft Body Dust Rubber 1528  Pinion Shaft

4001 Bushing 1538  Calibration Bolt

1535  Caliper Bridge Assembly 5001 Spring

1713 Leveller

1648 Roller Bearing Set
1539  Calibration Shaft Chain

_ A A aNdMNDN
=G =

1546 Roller Bearing Set 1648 Roller Bearing Set

KNORR-BREMSE

B .

. 2000
(e

VEHICLES [ VEHICLES [

1539 Calibration Shaft Chain 1542 Adjusting Shaft Gear

VEHICLES [ VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN7-SK7 SERIES

Caliper Repair Kits

1528 1681

VEHICLES S VEHICLES [

1527 Adjusting Mechanism Shaft 1655 Adjusting Mechanism Shaft

VEHICLES - VEHICLES (R

1656 Adjusting Mechanism Shaft 1657 Adjusting Mechanism Shaft

KNORR-BREMSE

VEHICLES —==== VEHICLES [ s

Adjusting Mechani 1674 T

----- -----

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN7-SK7 SERIES

Caliper Repair Kits

Caliper Bridge Assembly Set
1533 vericLes [

1532 Caliper Bridge Assembly
1538 Calibraiton Bolt

1548 Bushing For Leveller
5001 Caliper Spring

— Y RES

1534 Caliper Bridge Assembly 1532 Caliper Bridge Assembly

VEHICLES [ VEHICLES -

1536 Caliper Bridge Assembly Set N

1535 Caliper Bridge Assembly 1
1538 Calibraiton Bolt 2
5001 Caliper Spring 1

KNORR-BREMSE

1537 Caliper Bridge Assembly

VEHICLES [ VEHICLES ===

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN7-SK7 SERIES

Caliper Repair Kits

1505 Caliper RepairKit N
e 575 | oescrierionor coops | —omension s

1001 Trust Part With Bellow @ 69mm

4001 Bushing @ 18x16x10mm
1005 Bellow (Red)

6002 Fiber O-ring

1006 Bellow (Black)

6001 Clamp

1007 Plastic Bushing

A m A A A NN

[ o =R g .
a D

ART B E MAN 81.50822.6031 - 81.50822.6020 - SAF 3.434.3814.00 - IVECO 4254 1413
1 500 Caliper Repair Kit MB 000 420 4082 - 000 420 4982 - 000 420 2382 DAF 1689313 - 1622785

ALZLUSBEY 5oy 09.801.06.32.0 - JOST JAEO150402382 - JAE0150404982
m K001300 - K010603 - K000366 - K010606 - K015542 IVECO 42552622 - TRP 2169199 - SCHMITZ 1008451

) B T R T
1001 Trust Part With Bellow @ 69mm
1002  Shaft Body Dust Rubber @ 69mm 2
4001 Bushing @ 18x16x10mm 2

-_y,
. a2\
, § 9 (g" oN

)

el 1707 Caliper RepairKit [

1001 Trust Part With Bellow @ 69mm
1114 Shaft Body Dust Rubber @ 69mm 2
4001 Bushing 2

KNORR-BREMSE

- 1721 Caliper RepairKit N

1001 Trust Part With Bellow @ 69mm
1130 Shaft Body Dust Rubber @ 69mm 2
4001 Bushing 2

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbeneﬁt SN7-SK7 SERIES

Caliper Repair Kits

1501 Caliper Repair Kit 1661 Caliper Caps Kits

\Y= ¢l y VEHICLES [

1679 Caliper Cap Set

B0
B-B-4-:3-9-

VEHICLES |

1671 Caliper Caps Kits Caliper Caps Kits

@ @ @
® @

VEHICLES | VEHICLES [

KNORR-BREMSE

1550 1608

VEHICLES [ VEHICLES I
@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN7-SK7 SERIES ’rbene#t

Caliper Repair Kits

Caliper Leveller

1521 Caliper Leveller

VEHICLES [

1526 Caliper Leveller

Caliper Leveller

VEHICLES [ VEHICLES [

1633 Caliper Leveller 1634 Caliper Leveller

KNORR-BREMSE

VEHICLES [ VEHICLES [

1523 Caliper Leveller 1712 Caliper Repair Kit

VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbeneft SN7-SK7 SERIES

Caliper Repair Kits

Caliper Repair Kit Complete ACTROS BPW ESKi MODEL (OLD MODEL) SET

e

SR

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1500 Caliper Repair Kit 1550  Caliper Cover Set 1
1538 Calibration Bolt 1537  Caliper Bridge Assembly Set 1
1527 Adjusting Mechanism Shaft 1539  Calibration Shaft Chain 1

1

1528  Pinion Shaft 1602 Caliper Guide & Bush Repair Kit
1547 Roller Bearing Set

e

]
e~ SRS

B S S

Caliper Repair Kit Complete ACTROS BPW YENi MODEL (NEW MODEL) SET

KNORR-BREMSE

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1500 Caliper Repair Kit 1550  Caliper Cover Set
1538 Calibration Bolt 1539  Calibration Shaft Chain
1527 Adjusting Mechanism Shaft 1568  Caliper Guide & Bush Repair Kit

1528  Pinion Shaft 1546  Caliper Roller Bearing Set
1534 Caliper Bridge Assembly Set

B S S
= =N . =

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SN7-SK7 SERIES

Caliper Repair Kit Complete

i

- RCRT
i b *
s o
E e g

1506
1538
1527
1528

KNORR-BREMSE

Caliper Repair Kit
Calibration Bolt

Adjusting Mechanism Shaft
Pinion Shaft

Caliper Repair Kit Complete

1500
1538
1547
1537
1573

@ benefitauto.com.tr o o @ Ibenefitcaliper

Caliper Repair Kit

Calibration Bolt

Roller Bearing Set

Caliper Bridge Assembly Set
Caliper Guide & Bush Repair Kit

- a N -

1
2
1
1
1

1539
1534
1546
1561

1550
1539
1527
1528

Calibration Shaft Chain

Caliper Bridge Assembly Set
Roller Bearing Set

Caliper Guide & Bush Repair Kit

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1
1
1
1

SCANIA SET

Metal Cover Set

Calibration Shaft Chain
Adjusting Mechanism Shaft
Pinion Shaft

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

=9 - =y

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SL7-SM7-ST7 SERIES

Caliper Repair Kits

PART li i Bush R ir Ki
1647 Caliper Guide & Bush Repair Kit [ [
(770 | oEscreon oF Goobs | —pmension | pos

\ 2003 Caliper Pin @ 36x114 mm 1
2004 Caliper Pin @ 32x80 mm 1

3001 Pin Bolt M16x1,5x85 mm 1

3004 Pin Bolt M16x1,5x80 mm 1

ﬂm M1 1005 Bellow (Red) 1
6002 Fiber O-ring 1

" mmmum 4002 Bushing @ 40x36x82 mm 1

7027 Bolt Plug @ 40x11 mm 1

1008 Caliper Pin Bush - Short @ 55x40x39 mm 1

ﬂ 55x40x39 mm

1708 Caliper Guide & Bush RepairKit [ [
CEIT) ko12912
(770 | oescrprion oF 00o0s | —pmension | pos

— : ; . i Ay 2003 Caliper Pin @ 36x114 mm 1
S | 4 m 2004  Caliper Pin @ 32x80 mm 1
[SELT B o 3001 Pin Bolt M16x1,5x85 mm 1
3004 Pin Bolt M16x1,5x80 mm 1
L S 6002  Fiber O-ring 1
\ R A m A 7002 Bolt Plug @ 40x15 mm 1
) 1011 Plastic Cover o 38 mm 1
\»\';_"_-/ [ NN 6006  Brake Pad Retainer 1
A .
_~ ~ / 8004  Pin 1
g v YOS 6004  Washer 1
=) = y 6005  Cotter Pin 1
\
1

- e 1549 li ion N
S g B “"px - Calibration Nut
- .‘ &

Caliper Guide & Bush Repair Kit
- 1683 p pair A1 ST SCHMITZ 1227598 - SAF 3.434.3824.00
K108002K50 - K108002K64 - K108002K62
ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

KNORR-BREMSE

- 2003  Caliper Pin @ 36x114 mm 1
— 2006  Caliper Pin @ 36x64 mm 1
3001 Pin Bolt M16x1,5x86 mm 1
3005 Pin Bolt M16x1,5x70 mm 1
% 1005 Bellow (Red) 2
&_ﬂ-/ 6002  Fiber O-ring 2
4002 Bushing @ 40x36x82 mm 1
: 7002  Bolt Plug @ 40x15 mm 1
7004 Bolt Plug @ 40x25 mm 1
—jw m 4067  Bushing @ 40x36x20 mm 1
B g
BT
1705 Caliper Cap Kit 1706 Caliper Cap Kit

_ f _ i , 4 '
-’/ Nt N ~——
Ve Y2 v, (":’ "4

@ 40x15 mm @ 40x25 mm y

A N 7\ ,g A \.
2 |\ ( X

[o,

VEHICLES [ VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SL7-SM7-ST7 SERIES

Caliper Repair Kits

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1069 Trust Part With Bellow 1539  Calibration Shaft Chain
1002 Shaft Body Dust Rubber 1653  Pinion Shaft

4043 Bushing 1528  Pinion Shaft

1535 Caliper Bridge Assembly 1650  Calibration Bolt

1649 Leveller 5001 Spring

1648 Roller Bearing Set 1542  Adjusting Shaft Gear

= A a NN DN
=9 WYy =Y

1709 Caliper Repair Kit Complete

KNORR-BREMSE

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1069 Trust Part With Bellow 1539  Calibration Shaft Chain
1002 Shaft Body Dust Rubber 1657  Pinion Shaft

4043 Bushing 1528  Pinion Shaft

1535 Caliper Bridge Assembly 1650  Calibration Bolt

1682 Leveller 5001 Spring

1648 Roller Bearing Set

- = a2 DN
— Wy By

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




,rbene#t SL7-SM7-ST7 SERIES

Caliper Repair Kits

Caliper Bridge Assembly Set -
VEHICLES |

ARC NO DESCRIPTION OF GOODS | DIMENSION | PCS |

1535 Caliper Bridge Assembly 1
1650  Calibration Bolt 2
5001 Spring 1

1537 Caliper Bridge Assembly 1535 Caliper Bridge Assembly

VEHICLES [ VEHICLES [

1643 Caliper Repair Kit 1644 Caliper Repair Kit

CETT)  K046523K50 - K108004K50 - K108004K64 - K108004K62 [oemno [

KNORR-BREMSE

Sy
MB 000 423 0316 - SCHMITZ 1227579 - SAF 03.434.3823.00 AN /«#8%y -

1727 Calipration Gear Shaft

VEHICLES [

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR-BREMSE

SL7-SM7-ST7 SERIES

VEHICLES [ s

1653 I S

VEHICLES [ s

1650 Calibration Bolt

9,50 mm

VEHICLES [

1539 Calibration Shaft Chain

29 Link

VEHICLES [ s

@ benefitauto.com.tr o o @ Ibenefitcaliper

’rbeneﬁt

Caliper Repair Kits

Pinion Shaft

VEHICLES [ e

1657

VEHICLES [ s

1542 Adjusting Shaft Gear

VEHICLES (S

1648 Roller Bearing Set

VEHICLES [ s

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbeneft SL7-SM7-ST7 SERIES

Caliper Repair Kits

1649 Caliper Leveller 1682 Caliper Leveller

VEHICLES VEHICLES [ s

1729 Caliper Cover Seal Kit 1661 Caliper Caps Kit

VEHICLES VEHICLES [ s

1550 Metal Cover Kit 1608 Metal Cover Kit

s

‘ ‘ ‘ ‘ ‘ ‘ M8x1,25x50mm
VEHICLES | VEHICLES [

1733 Caliper Metal Cover Kit 1679 Caliper Cap Set

i 88888
44 O~-B-25-58-00-

VEHICLES [ VEHICLES [ s

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE




SL7-SM7-ST7 SERIES ’rbeneﬁt

; Caliper Repair Kits

Plastic Cover VEHICLES [

ARC NO DESCRIPTION OF GOODS

1551 3 Lines Mercedes Type Sensor

1551-1 3 Lines Man Type Sensor
1552 2 Lines Man Type Sensor
1553 Without Sensor

1684 Plastic Cover 1684 Plastic Cover

VEHICLES [ VEHICLES [

1583 1579
I Kko00133 %) | k000029

Qs

238 mm

VEHICLES MB 000 423 4687 - MAN 81.50822.6021 - DAF 1459407
RENAULT 5021 175 269 - SAF 03.434.3816.00
Caliper Cover Set 1580 Caliper Cover Set

ET k003902

Qe os

QA otd e 0.0 &
egecepcgeee

VEHICLES VEHICLES ===

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE

3 35mm




’rbeneft SL7-SM7-ST7 SERIES

Caliper Repair Kits

Caliper Repair Kit Complete

\ " m% Qﬁ

@ 55x40x39 mm

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1643 Caliper Repair Kit 1537  Caliper Bridge Assembly Set
1650 Calibration Bolt 1648  Roller Bearing Set

1653 Pinion Shaft 1647  Caliper Guide & Bush Repair Kit
1528 Pinion Shaft 1542  Adjusting Shaft Gear

1539  Calibration Shaft Chain 1608  Metal Cover Kit

= = o N
— =Y BN

1710 Caliper Repair Kit Complete

—

KNORR-BREMSE

A==

m ISt

< tdibots b

ARC NO DESCRIPTION OF GOODS ARC NO DESCRIPTION OF GOODS

1643  Caliper Repair Kit 1537  Caliper Bridge Assembly Set
1650 Calibration Bolt 1648  Roller Bearing Set

1657 Pinion Shaft 1683 Caliper Guide & Bush Repair Kit
1528 Pinion Shaft 1550  Metal Cover Kit

1539 Calibration Shaft Chain

_ A A N -
=g By

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




SL7-SM7-ST7 SERIES ’rbeneﬁt

Caliper Repair Kits

KNORR-BREMSE

@ benefitauto.com.tr o o @ eeeeee itcaliper m




BENDIX SERIES

Caliper Repair Kits

el 5631 Caliper Guide & Bush Repair Kit EEE) 8 GBI R
CEIT) 381.391

RO o .. v s RN, . et A 0 P ENERS

ARGNG | DESCRIPTIONOF GOODS | DIMENSION | PCS ]

] . 2061 Caliper Pin @ 45x150 mm 1

M . £ 2062  Caliper Pin @ 23,5x92 mm 1

= U 3068  Pin Bolt M20x1,5x175 mm 1

AR - A 3069  Pin Bolt M16x1,5x124 mm 1
- 4061 Bushing @ 45x40x50 mm 2

4060 Caliper Pin Bush @ 38x55x24 mm 1

[ —

| : gl V &

——— (——=u=

1598 Dust Cover Set IVECO : 9316 1192
381.413

1057  Caliper Rubber 2
4035 Ring Small 2
4036  Ring Big 2
4037  Rubber Cover 1
1058  Rubber Cover 1
1059  Dust Cover 2
1060  Plastic Cover 1
‘ - <
\ :
—
D o
GaYe] 5667 Brake Pad Retainer Kit IVECO): 931611560 m
381.419
e oo oescrrmonorsooos | owenson e 1 ()
- o 5667 Brake Pad Retainer Kit 1

5668 Brake Pad Retainer Kit IVECO : 9316 1843
(oem No JINTEETE)
(7o | oesorerion or G000s | —bmension | os

5668 Brake Pad Retainer Kit 1

P " SafREe s i

= /.

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BENDIXSERIES ’rbeneﬁt

Caliper Repair Kits

BENDIX

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




,rbeneft CARRIERS

Caliper Repair Kits

10500 Caliper Carrier SRR

X «oos099 SAF & BPW AXLE

ARC NO DESCRIPTION OF GOODS m-

377,50 mm 10500 Caliper Carrier

266,50 mm

10501 Caliper Carrier N
K005606 MAN 12-180

288 mm 10501 Caliper Carrier

: % 309 mm J j@

Caliper Carrier
10502 B 000 421 1106 - HALDEX RDBCO00026RX
[oem o IECITTPE MB FRONT AXLE

10502 Caliper Carrier

377,70 mm
286 mm

248 mm ——

KNORR-BREMSE

209,50 mm
399,Z0"Mm

Caliper Carrier
10503 e ———
[oem o IPCEPTID) BPW AXLE

266 mm 10503 Caliper Carrier
{a— 211,50 mm —p

T‘ 0 Bottom View

208100~
36640 mm

@ benefﬂa@mﬂﬁlae@@ oo;@ehbenefitcaliper ORIGINAL PART ORIGBERSRART NONIEE RS MENTFONESOBIRLY BOR DESCRIPTIONS




CARRIERS

Caliper Repair Kits

10504

m K052379K50 MB NEW 4140 REAR
322 mm

A=, I[¢1R3 MB 000 423 1006

ARC NO DESCRIPTION OF GOODS m-

10504 Caliper Carrier
278 mm

350 mm

Caliper Carri
10505 aliper Larrier MB 000 421 5706
m K046498K50 MB NEW 4140 FRONT

10505 Caliper Carrier

10506 E2 Eoitaion SCANIA : 1390425 - 2121596
CETT) k001507 - 11334320061 - 11197370061 - K001501 SCANIA NEW MODEL

ARC NO DESCRIPTION OF GOODS m-

10506 Caliper Carrier

378 mm
286 mm

<< 24850 mm

KNORR-BREMSE

10507 Caliper Carrier MB : 000 423 0606 - SCANIA : 2121592 - HALDEX : RDBCO00027RX
CEIT) «o00027 - K000027KE9 MB AXOR

10507 Caliper Carrier

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




,rbene t CARRIERS

Caliper Repair Kits

10508 Caliper Carrier IWRRPRMIN  MB : 000 421 2006 - 000 421 3106 JOST : JAE0110402006
SCANIA : 21221593
EEXT) 000690 - K001926 - K000690K69 MB ATEGO

ARC NO DESCRIPTION OF GOODS m-

10508 Caliper Carrier

176 mm4}

360uhm

Caliper Carri
10509 CUPE (ST SCANIA1756388
X «otores SCANIA OLD MODEL

10509 Caliper Carrier

400 mm

:L’ 435,25'mani

10510 Caliper Carrier .
K015308 SAF AXLE
&m T T o MEZR

266 mm 10510 Caliper Carrier

-« 211,50mm —

10511 a5t
K004679 BPW AXLE

10511 Caliper Carrier
266 mm

< 211,40 mm—— N

- - 29750 Mm% - —»
365:50smm

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



CARRIERS

Caliper Repair Kits

10512 EEE HALDEX : RDBC001278RX
CEIT) «ooizrs MAN TGA

379,50 mm
286 mm

248 mm —p

ARC NO DESCRIPTION OF GOODS m-

10512 Caliper Carrier

,.- .."‘ |
Yk
219/50 mm (

407,25 mm

Caliper Carrier
10513 P V=TIH] DAF 1689314 - 1521259 - 1622787 VDL 41689314
m K011479 - K001528 - K001539 DAF TRUCK
ARC NO DESCRIPTION OF GOODS W-

10513 Caliper Carrier

378 mm
286 mm

10514 Caliper Carrier RENAULT 5021171538 SCANIA 2121594
K001105 - K000546 - K002979 - 1140022F0061 BPW AXLE
& CEN T TR

10514 Caliper Carrier

337,50 mm
266 mm
- 211 mm —

KNORR-BREMSE

212 mm

359;50 ' mm
10515 Cellper Cen el MB 000 421 3806 ZF 0501213710 HALDEX RDBCO01530RX
K001530 - K000541 MB CONNECTO R
I CTNCEE I TS
— 380 mm > 10515 Caliper Carrier

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rben fit CARRIERS il

SOy
Caliper Repair Kits @' gg}%ﬁ% i

10516 Sy (e MB 000 421 3706 HALDEX RDBC001530RX

(oem o JCTEER) MB CONNECTO L

ARC NO DESCRIPTION OF GOODS m-

- 380 mm L 10516 Caliper Carrier

%

%

10517 Caliper Carrier o
X «oorars SCHMITZ TRAILER

ARC NO DESCRIPTION OF GOODS m-

10517 Caliper Carrier

196\mm

Q"%201 50 mm

Caliper Carrier
10518 BPW 01.303.68.57.0 SCANIA 2379696
X «ooaeso BPW AXLE

286.50 mm
10518 Caliper Carrier

d< 24850 mm— ]

h
76‘*7

433,00

&, 365,00
\Z\S\’YZ@O 297,00
R e 1
i T i

13,25

297 mm4J

365 mMm
- 433 mm

10519 Caliper Carrier TSGR 5
K000028 MB AXOR

378 mm 10518 Caliper Carrier

286 mm
248 mm

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



CARRIERS ’rbene

Caliper Repair Kits

A"/ [¢ B3] MB 000 421 3006 SCANIA 2121599 RENAULT 5021171539

10520 Caliper Carrier
[oem o ECTRTPY MB ATEGO

300 mm
219 mm

174 mm

ARC NO DESCRIPTION OF GOODS W-

10520 Caliper Carrier

g MR
QE 316 mm j

10521 Caliper Carrier 5 5 ) 5] G
K046764K50 MERCEDES 4140 FRONT
— (o ey e I

10521 Caliper Carrier

378 mm
286 mm

? <245 mm—— >

JPS Tx :

10522 Caliper Carrier N
K001505 BPW AXLE
&m D R

10522 Caliper Carrier

KNORR-BREMSE

10523 Caliper Carrier N
K001497 BPW AXLE -R
e ) B e i B ol M MER

10523 Caliper Carrier

266 mm

T*Zﬂ mm

@ benefitauto.com.tr o o @ Ibenefitcaliper a ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbene t CARRIERS

Caliper Repair Kits

10524 Caliper Carrier .

m K004206 BPW AXLE - L

ARC NO DESCRIPTION OF GOODS m-

10524 Caliper Carrier

266 mm
211 mm

176 mm

295,50.mm

10525 Caliper Carrier

MB : 000 421 1306
K001494 - KO00196 MERCEDES ATEGO
& o T e MR

10525 Caliper Carrier

: e 176 mm & )
. ' 341.mm J
360“mMmm
D526 Caliper Carrier SMB M91004702 RENAULT 5021175296 SCANIA 2121598
378 mm 10526 Caliper Carrier
286 mm

400 mm

10527 Caliper Carrier VISR IVECO : 4257 4292
CEIT] K108814K50 - K001510 - K000686 - K000689 IVECO TRUCK
ARCNO |  DESCRIPTION OF GOODS m-

286 mm 10527 Caliper Carrier

348 mm
392'mm

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



CARRIERS ’rbeneﬁt

Caliper Repair Kits

10528 Caliper Carrier NN

CEXT) k108001K50 SCHMITZ TRAILER
278 mm

215.50 mm ﬂ

ARC NO DESCRIPTION OF GOODS m-

10528 Caliper Carrier

eigtii 149 mm
196 mm

201 50 mm
- 266 mm

10529 Caliper Carrier MB 000 421 1606
K000358
& CE IR

10529 Caliper Carrier

216 mm

c (E
_ 213,75 mm
% 299 75 M

315,75 mm

10530 Caliper CarrierR [
K002314 IVECO TRUCK
&m R o ol MR

341 mm » p—
266 mm 10530 aliper Carrier
~t=——211,00 mm——»
| 3 Ay
I i)ﬁ

@j "
360 mm

10531 Caliper CarrierL [ [
K002313 IVECO TRUCK
— o ol ML

-t 341 mm
10531 Caliper Carrier

KNORR-BREMSE
%

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbene t CARRIERS

Caliper Repair Kits

10532 Caliper Carrier
EEXT) Ko001275 - K001275K69 JOST AXLE
340,50 mm -
286 mm
248 mm ——

10533 Caliper Carrier
X «oo1521 BPW AXLE

<+ 310mm——— 9
286 mm
- <248 mm-——

’\%*\‘5
¢ ?
-
400 mm
10534 Caliper Carrier
%) | koo15378 SAF AXLE

216 m
316"mMm

10535 Caliper Carrier
X Ko001502 - K000682 - K001273 ZF AXLE

406 ' mm

@ benefitauto.com.tr o o @ Ibenefitcaliper @

\"/=,1[e]H 2] MB : 000 421 2506 JOST : JAE0210402506 PACCAR : 9500930

ARC NO DESCRIPTION OF GOODS m-

10532 Caliper Carrier

VEHICLES ==

ARC NO DESCRIPTION OF GOODS m-

10533 Caliper Carrier

VEHICLES ===

ARC NO DESCRIPTION OF GOODS m-

10534 Caliper Carrier

MAN : 36508020004 HALDEX : RDBC001273RX

ARC NO DESCRIPTION OF GOODS m-

10535 Caliper Carrier

ZF : 0501214701 - 0501213687 EVOBUS : 0004212906

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



KNORR-BREMSE

10536

CEIT) «oo1s38

CARRIERS

MB OLD MODEL FRONT

~d 378 mm
286 mm
‘47 248 mm

210.mm

400725 mm

Caliper Carrier

209,75'mm

349750 mm

MB OLD MODEL REAR

10538
CI%) «oo14e3

Caliper Carrier

BPW AXLE

~ 341 mm
266 mm

qdc

212 mm
360 mm

Caliper Carrier

10539

CIT) k013742 - K013742K69

JOST AXLE

341 mm
266 mm

@ benefitauto.com.tr o o @ Ibenefitcaliper

’rbene#t

Caliper Repair Kits

A=, 1[¢1R2] MB : 000 421 2606

ARC NO DESCRIPTION OF GOODS m-

10536

Caliper Carrier

VEHICLES [

ARC NO DESCRIPTION OF GOODS W-

10537 Caliper Carrier

BPW : 02.0313.09.00

ARC NO DESCRIPTION OF GOODS m-

10538 Caliper Carrier

MB : 000 421 3906 - JOST : JAE0210403906

ARC NO DESCRIPTION OF GOODS m-

10539 Caliper Carrier

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rben fit CARRIERS

Caliper Repair Kits

10540 Caliper Carrier o
c - DAF TRUCK

ARC NO DESCRIPTION OF GOODS m-

10540 Caliper Carrier

10541 Caliper Carrier .
K108006K50 SAF AXLE
— CE s Ml R

10541 Caliper Carrier

278 mm
——215,50 mm—§

3 .‘&“{
L 216 mm 4&9\4

316gmm

10542 Celllae Celtits MAN : 36508026003 ZF : 0501214104
%) | koo1504 ZF AXLE
N

10542 Caliper Carrier

KNORR-BREMSE

400,00 mm

10543 Caliper Carrier 1
e SCANIA TRUCK
e O T T

378,50 mm 10543 Caliper Carrier
286,00 mm

’47 248,00 mm 4>‘ A

j
290,50 mm j

400,50’"mm

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




CARRIERS ’rbeneﬁt

Caliper Repair Kits

10544 Caliper Carrier 1w _

X k147470K50 SAE / SMB AXLE

378,00 mm
278,00 mm

7’47215,50 mm 4>‘

ARC NO DESCRIPTION OF GOODS m

10544 Caliper Carrier 1

210,00 mu
400,00 mm

KNORR-BREMSE

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




Series & Model

BPW Various Trailer Axles
SCMITZ Various Trailer Axles
MERCEDES TRAILER Various Trailer Axles
SAF HOLLAND Various Trailer Axles

Cross Referance

Benefit Code

SK7042RC
K012633

K012633K62
K012633K64
K012633K69

Manufacturer Code

Disc Caliper

Truck & Trailer Brand Series & Model

BRAKE CALIPER

= a a N

22,5
225
22,5
225

~

=l =l EA 1T =] 2o

1573 1588 1674 1500 1536 1608

Info About Caliper

BPW Various Trailer Axles
SCMITZ Various Trailer Axles
MERCEDES TRAILER Various Trailer Axles
SAF HOLLAND Various Trailer Axles

Benefit Code

Cross Referance

SK7052RC
K012634

K012634K62
K012634K64
K012634K69
K126632X50
K132663X50

Manufacturer Code

@ benefitauto.com.tr o o @ Ibenefitcaliper

Vehicle Code

NN DN =

22,5
22,5
22,5
22,5

03.080.0060.20 SAF

“Iiper Type Knorr Bremse SK7

GXx v

S N I S I P | B i B F..RDM'

1573 1588 1674 1500 1536 1608

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



BRAKE CALIPER

Truck & Trailer Brand Series & Model Diameterm Info About Caliper

SAF HOLLAND Various Trailer Axles 1 22,5

Caliper Type  Knorr Bremse SK7

Cross Referance

R SK7002 03.080.0055.20

[} [=]

? o :E;ggg K011545 gzi - o

o o E=p— 1 . 3 5 g

g £ skr029 psbvadt sae || || A L =2

2 Il K003400 K110228

3 g K013873 1573 1588 1674 1500 1536 10500
Il K003402

KNORR-BREMSE

Truck & Trailer Brand Series & Model Diameter Info About Caliper

SAF HOLLAND Various Trailer Axles 2 22,5 Caliper Type  Knorr Bremse SK7

Cross Referance Caliper Repair Kits

SK7012 03.080.0054.20

[
k=]
2 S IR KO11546 03.080.0054.21 SAF
9 SK7038 03.080.0054.02 SAF ] . . = = :
3 8 = - 3 FI=NN
pe El sk7039 K011548 03.080.0054.01 SAF oo | ! == [
g 2 K012634
g 2 Losehr K110229 :
&) g K013874 1573 1588 1674 1500 1536 10500
¥ K003403

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Caliper Repair Kits

90008 - Air Disc Caliper

Truck & Trailer Brand Series & Model

Various Trailer Axles

Cross Referance

SK7025
K028024
K021666

=y

10503

Benefit Code
Manufacturer Code
Vehicle Code

90009 - Air Disc Caliper

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

BPW Various Trailer Axles R “Iiper Type  Knorr Bremse SK7

GXx v

Cross Referance

[])

=3
[ o o I L S |
3 i sk7035 AU A . pre
(&} ] o - . 5 ® & H
Py 50009 El k028025 2 ca o || | 4 = - =
] = 12
5 5 K021667 -5 1573 1588 1674 1500 1536 10503
@ £ >

=

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Caliper Repair Kits

Truck & Trailer Brand ~% | series & Model

SAF HOLLAND Various Trailer Axles

Cross Referance

R SK7041
§ § SK7009 § —
= [—— ) - 3 '
: = ozsros s S I S I PO | I i B K I PR
= 8 =
3 g K015086 g 1573 1588 1674 1500 1536 10510
El K110226

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

Knorr Bremse SK7

SAF HOLLAND Various Trailer Axles 2 22,5 ‘ ‘Iipe’r Type
L1 3PS

o

Cross Referance

SK7051
SK7019

K012342
K023797
K015087
K110227

ca | | .&/&' ket B I [ PPN

1573 1588 1674 1500 1536 10510

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Caliper Repair Kits

Truck & Trailer Brand Series & Model

SCHMITZ Various Trailer Axles

Cross Referance

SK7026 PR

K001481

10517

Benefit Code
Manufacturer Code
Vehicle Code

90013 - Air Disc Caliper

KNORR-BREMSE

Series & Model i Info About Caliper

SCHMITZ Various Trailer Axles 2 22,5 ‘ ‘Iiper Type  Knorr Bremse SK7

GXx v

Cross Referance

[]
°
Q
&)
b=
S
@
c
[
m

SK7036
K001482

" = |8 A 1] e fees

1573 1588 1674 1500 1536 10517

50013

Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR-BREMSE

BRAKE CALIPER

Caliper Repair Kits

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES Various Trailer Axles 1 22,5 \'Ca,iper Type  Knorr BremseSK?

Cross Referance

R SK7007 !

© % R =
2 &l SK7008 ﬁg:gi:g §-£9464202401" Mercedes
o =

K010277 A9464203101 Mercedes |— - » e & e

o ] o \ | 3 Ao It
E Ed K010279 zfgggg I8 9464203701  Mercedes [e"a. « o B g 3 TN B G
z 81 K011365 =
[} = K011367 O 1573 1588 1674 1500 1536 10539
(= ] K013027 K010281 =

F K113728

90015 - Air Disc Caliper

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES Various Trailer Axles 2 22,5 ‘ ‘Iipe’r Type  Knorr Bremse SK7
Gz v
| [

Cross Referance

B SK7017 54202 rcede
§ K8 SK7018 K126867 § A9464202501 | Mercedes
S Sl K010278 1581 A9464203201" Mercedes |— - - , - & @ ; Wb
£ =l K010280 ﬁg:g:gi I8 A9464203801  Mercedes e 5% % 4~ 5 . Kt s
e -l K011366 K011368 <
3 g K013028 g 1573 1588 1674 1500 1536 10539
El  K113733

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Caliper Repair Kits

Info About Caliper

"Caliper Type Knorr BremseSL7
¢ 5 g

MERCEDES Axor 1

Cross Referance

A0054200283 |
A0044207683  Mercedes

0054200283 Mercedes |— = ® &
R I O S & e N I 5 <]

SL7514RC
K052381K50
K093074K51

1561 1649 1528 1643 1650 1608

Benefit Code
Manufacturer Code
Vehicle Code

Disc Caliper

KNORR-BREMSE

Series & Model i Info About Caliper

G5 a2
‘ ®
@ O 3 Lines

MERCEDES TRAILER Axor 2 22,5 “Iiper Type  Knorr Bremse SL7

Cross Referance

g €
& S rcedes
o =
3 4 SL7504RC - n wuc| |
pe 90021 E K052380K50 AR B 1S S I By = = ol
2 | K093073K51 :
8 g 1561 1649 1528 1643 1650 1608
(1]
=

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR-BREMSE

BRAKE CALIPER

=
Truck & Trailer Brand = Series & Model
]

Info About Caliper

G5

Caliper Repair Kits

MERCEDES Axor W 1 22,5 "Caliper Type Knorr BremseSL7

Cross Referance

SL7515RC
K052383K50
K093076K51

Benefit Code
Manufacturer Code
Vehicle Code

90023 - Air Disc Caliper

Series & Model

1561 1649

Info About Caliper

MERCEDES TRAILER

Cross Referance

SL7505RC
K052382K50
K093075K51

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper

r <2 |- |2

1528 1643 1650 1608

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES Axor 1

Cross Referance

‘ 'Caliper Type Knorr BremseSL7
¢ 5 g
@

SL7514
K023249
K044400
K082462
K137374

S I 1S S I RN I et I N 2 ]!

1561 1649 10504 1643 1650 1608

Benefit Code
Manufacturer Code

KNORR-BREMSE

Truck & Trailer Brand

Series & Model i Info About Caliper

MERCEDES TRAILER

22,5 "aliper Type Knorr Bremse SL7

G5 a2
‘ @)
@ O 3 Lines

Cross Referance

3 - :
A9444201002 | \Mercedes

(] § [

T (&) T Vs

o M SL7504 S 9

& 5 il W B = e & F 12 o
N K023248 o - Q& PrE - 1

= 3 o g 1.% i 2 = e it

£

= i K044399 °

§ 5 K082461 E, 1561 1649 10504 1643 1650 1608
(1]
=

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

G X

MERCEDES Axor W 1 22,5 "Caliper Type Knorr BremseSL7

Cross Referance

. 2 @
B ) SL7515 I S
o o o -
o S K044402 o =, N B s’ |
g il Kos2464 3 LR B CV S B e N B -2l
5] = 1S
8 | K137376 $ 1561 1649 10504 1643 1650 1608
©
=

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES TRAILER Axor 2 22,5 'Iiper Type Knorr Bremse SL7

G %

Cross Referance

3
Q o 8
§ ‘g SL7505 3 ~ e )
N K044401 = = ety m- | e e
= 3 ) [N & b
5 il K082463 = & Al = = |
'E, Ef  K137375 E, 1561 1649 10504 1643 1650 1608
©
=

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbene#t BRAKE CALIPER

Caliper Repair Kits

Truck & Trailer Brand ; Series & Model i Info About Caliper

MERCEDES Axor 1 22,5 "Caliper Type Knorr Bremse:SN7
MERCEDES Actros 1 22,5

zF Axle 1 22,5 G X g2

IVECO Stralis 1 22,5

&
@ O 3 Lines

Cross Referance

K003798
K003799
SN7201RC
SN7210RC

|@$w| LA 150 (=] |8

1568 1526 1674 1500 1536 1550

Benefit Code
Manufacturer Code

KNORR-BREMSE

Truck & Trailer Brand Series & Model

MERCEDES Axor - 225 A

MERCEDES Actros 2 225 ‘ liper Type  Knorr Bremse SN7
ZF Axle 2 22,5 12°

IVECO Stralis 2 22,5

Cross Referance

1526 1674 1500 1536 1550

3
g S K003800 3
o — <]
< 2 o : ] . . 3 L1
- N K003797 e i . J—
5 il SN7200RC = I-\ | L~ - S
5 el SN7211RC £
o £ >
=

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER ,rbene#t

Caliper Repair Kits

Truck & Trailer Brand Series & Model

Cross Referance

K003781
SN7185RC

Benefit Code
Manufacturer Code

KNORR-BREMSE

Truck & Trailer Brand Series & Model : i Info About Caliper
SAF Axle X '
2 R 'Ilper Type  Knorr Bremse SN7
G X

e

Cross Referance

1568 1526 1674 1500 1536 1550

[
o b o
§ (é K003782 § = ﬁ% i /; ® & 3 un
g 8 SN7195RC 2 FEAN % Kol o
o £ =
@ = s

=

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

‘ 'Caliper Type Knorr Bremse:SN7
¢ X
G

SAF Axle 1 22,5

Cross Referance

K001116 © a2
3 K011175 b gz":
S K011177 5] 2 e @ ; un
& K013880 o SAF l%x‘?x?l .~ i Ear X e o
2 K013808 _‘E’ SAF
3 I|2212327;g g SCHMITZ 1568 1526 1674 1500 1536 1550
GIGANT

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

22,5 “Iiper Type Knorr Bremse SN7
G5
@),

Cross Referance

[ 0002720

° — AR iR -
3 S 'égg]];i § 03080002721 | \SAF '}
o — -
(8} o (8) OMOO.G' SAF . 1 .’_ ’_. 3 iy
g 2 K013879 7403080004320  SAF T B I Ko X I =55
g ‘g K013807 5 — 1568 1526 1674 1500 1536 1550
o0 = K023735 2 GIGANT

= GIGANT

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR-BREMSE

BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES Axor 1 22,5 "Caliper Type Knorr Bremse SN7
MERCEDES Actros 1 22,5

ZF Axle 1 22,5

Cross Referance

K000772  K002360
K000774  K002362
K000783  K002364
K001420 KO003313
K001422  K003347

A6284200801 Mercedes

A6284201201 Mercedes |—_ — e e @ [Pt n

A9444200101  Mercedes |z E.'\L, 4.52393’9 .~ i 0o > b o
A9444200301 Mercedes

K002354  K003349

K002356  K003351 A9444202501 Mercedes 1568 1526 1674 1500 1536 1550

K002358 K006873 A9444202701 Mercedes

Benefit Code
Vehicle Code

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES Axor 2 22,5 . '

MERCEDES Actros 2 22,5 ‘ liper Type  Knorr Bremse SN7
ZF Axle 2 22,5 ﬂl} 4 120

Cross Referance

K000771  K002359
K000773  K002361
K000782  K002363
K001419  KO003312
K002353 K003346
K001421  K003348
K002355 K003350
K002357 K006872

l&ﬁﬁ?l [ I et N o X N B2

1526 1674 1500 1536 1550

Mercedes
Mercedes
Mercedes

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

‘ 'Caliper Type Knorr Bremse:SN7
¢ X
G

MERCEDES Axle 1 22,5
GIGANT Axle 1

Cross Referance

3 SN7038 A9444201501 |
3 3 SN7134 -§ A9444201701
S = K001292 A9444202901 - - e &
o 3 o - - L] [ 111
g 3 K015426 82100090 i . N L~ i Bt b o
w 1 o
c u— L
3 g 20010912 g 1568 1526 1674 1500 1536 1550
= 20010914

Disc Caliper

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES Axle 22,5 . '
GIGANT Axle 22’5 ‘ liper Type  Knorr Bremse SN7
¢ X

Cross Referance

SN7028 cede
SN7124 rcedes
K001291
K015425
K015427
K015429
20010911

Z0010913

I&ﬁ%?l [ I et I o X N B2

1526 1674 1500 1536 1550

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR-BREMSE

BRAKE CALIPER

Truck & Trailer Brand Series & Model
MERCEDES Axor 1 22,5 "Caliper Type  Knorr Bremse:SN7
MERCEDES Actros 1 22,5

zF Axle 1 22,5 G X g2

Cross Referance

3 K002344 944420110 Mercedes
.§ 3 &ggggzg K007160 § A9444201301 Mercedes
S ] K0101 (5)/A9444202101  Mercedes |—_ - 2 & @ 3 un
e E oy Koio15a B¥lA9444202301  Wercedes % Ce s B [ i n = b o)
@ 8 Koo7152 20010292 B8 A0444203501  Mercedes
8 3 Koo7134 20010294 BB 79444203701 Mercedes 1568 1526 1674 1500 1536 1550
= K007156 A9444203901  Mercedes

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES Axor 2 22,5 . '

MERCEDES Actros D 22,5 ‘ liper Type  Knorr Bremse SN7
ZF Axle 2 22,5 ﬂl} A_ 120

Cross Referance

3 K002343 o

[}

b S K% Koo7159 [ -

o o K010149 [N&) : F1 . E] |

& E K004276 (910151 Y es| [~ i - S

5 5 K004278 S

c & K007151 20010291 &= Mercedes

@ 2 Ko007153 20010293 By Mercedes 1526 1674 1500 1536 1550
= K007155 Mercedes

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




Truck & Trailer Brand Series & Model

MERCEDES Axle
GIGANT Axle

Cross Referance

Benefit Code

SN7031
K002350
K002352
K007188
K007190
K010148

Manufacturer Code

Truck & Trailer Brand Series & Model

MERCEDES Axle
GIGANT Axle

Benefit Code

Cross Referance

SN7021
K002349
K002351
K007187
K007189
K010147

Manufacturer Code

@ benefitauto.com.tr o o @ Ibenefitcaliper

K010898
K010900
K010902
Z0010002
Z0010004

K010897
K010899
K010901
Z0010001
Z0010003

BRAKE CALIPER

Info About Caliper

1 ::': "Caliper Type Knorr Bremse:SN7

¢ X
e

-12°

A9444200801 Mercedes
A9444205501  Mercedes |—
A9444206701 Mercedes =
A9444206801 Mercedes
A9444207101 Mercedes 1568

Vehicle Code

ﬁﬁi‘m

1526

Info About Caliper

L4

% gg:g “Iiper Type Knorr Bremse SN7

A9444200501.  Mercedes

-12°

.

19 | I et I I I K= CY

1674 1500 1536 1550

A9444200701 | Mercedes

Mercedes
Mercedes

1568

Vehicle Code

gﬁﬁ%

1526

A 50 |2 |l

1674 1500 1536 1550

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



BRAKE CALIPER

Truck & Trailer Brand w2 | series & Model i Info About Caliper

MERCEDES AXOR 1 22,5 "CaliperType Knorr Bremse SN7

¢ 5

Cross Referance

@
°
o
(&)
=
=
@
&
@
[11]

Manufacturer Code
Vehicle Code

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

MERCEDES AXOR 2 22,5 ‘

‘Iiper Type Knorr Bremse SN7

G %

‘g

Cross Referance

=g l@m' P | I et I I N I E=Y

1568 1526 1674 1500 1536 1550

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




’rbene#t BRAKE CALIPER

Caliper Repair Kits

Truck & Trailer Brand w2 | series & Model i Info About Caliper

"Caliper Type Knorr Bremse:SN7

G %

IVECO TRUCK 1 22,5

Cross Referance

SN7076
SN7293
K000475
K000852
K004626
K007766

K004578

I 'S l{'ﬁﬁ%ﬂl L~ i " Ko S oY

1526 1674 1500 1536 1550

Benefit Code
Vehicle Code

K011310
K016828

Manufacturer Code

KNORR-BREMSE

Truck & Trailer Brand Series & Model

G5
g%);‘ >

IVECO TRUCK 2 22,5 “Iiper Type Knorr Bremse SN7

Cross Referance

|§m| LA 50 | 2] |

1526 1674 1500 1536 1550

Benefit Code
Manufacturer Code

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper
IVECO TRUCK 1 22,5 "Caliper Type  Knorr Bremse:SN7

G5
TR

Cross Referance

S @
3 3 IVECO
o] —

IVECO [ 1 & & El [0

o g = - .
b 3 veco [ iu| | | i = = L o
2 8 IVECO
3 2 5301341081 IVECO 1568 1526 1674 1500 1536 1550

=

5801341083 IVECO

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

IVECO TRUCK 2 R ‘Iiper Type Knorr Bremse SN7

G5
€D
ol 2

Cross Referance

SN7402

I _ R
wveco [ % l%ﬁ‘wl 1 ;
IVECO
IVECO 1568 1526 1674 1500 1536 1550
IVECO

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Caliper Repair Kits

Truck & Trailer Brand Series & Model

SAF Axle 1
BPW Axle
SCHMITZ Trailer 1

Cross Referance

SN7188RC
SN7301RC

Benefit Code
Manufacturer Code
Vehicle Code

SN7187RC

Disc Caliper

Info About Caliper

"Caliper Type Knorr Bremse:SN7

¢ X
e

1 I et O I

Truck & Trailer Brand Series & Model

SAF Axle
SCHMITZ Axle
BPW Axle

Cross Referance

@ benefitauto.com.tr o o @ Ibenefitcaliper

22,5
22,5
22,5

Info About Caliper

1674 1500 1536

“Iiper Type Knorr Bremse SN7

L4

0°

1550

[])
° ' s “AA R .
3 3 241105063 £ | \Schmitz
S g SN7197RC il 22101442) ** TERBERG |—§
g E SN7198RC FAsp1037042  scaniA [ ¢,
2 8 SN7311RC 2
8 g g 1568
=

P | I et I

1634

1674 1500 1536

1550

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper
SAF Axle 1 22,5 "Cali eriIvne

? Knorr Bremse SN7
GIGANT Axle 1 22,5 periyp

¢ % oo
@

Cross Referance

SN7095 3000300

()]

T ¥ S v
P S SN7114 03080003001
o] —

030m002 SAF 1 & & El [T

o 8 - s
z 3 oNay 03080003020  SAF ang, L~ ; - = o)
2 8 B 803080003021  SAF
3 g SN7279 03080003022 SAF 1634 1674 1500 1536 1550

(1]

= SN7435 03080004020  SAF

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper
SAF Axle 2 22,5 .
GIGANT Axle 2 225 ‘llper Type  Knorr Bremse SN7

¢ % o
‘ @)

Cross Referance

K K011172 0 -
2 S SN7085 30 (" SAF
2 = SN7104 03080003102 SAF =y - - e @ : e
S 8 ='8 - -
£ E N 03080003120  SAF Y al,| kA~ 5 Kot RS o
] 8 g SAF
£> 2 gu;;g; ——— 1568 1634 1674 1500 1536 1550
= SN7269 03080004920 SAF

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper
BPW Axle 2 22,5 ‘ 'Caliper Type Knorr Bremse: SN7
@ X oo

git'

Cross Referance

& %/i 0T o e -%I

1634 1674 1500 1536 1550

SN7193

Benefit Code
Vehicle Code

K151737K50

SN7174

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

¢Xx o

BPW Axl | 1 22,5 , '
X8 W “Ilper Type Knorr Bremse SN7

Cross Referance

o] kA 150 |l e

1634 1674 1500 1536 1550

SN7183

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Caliper Repair Kits

Truck & Trailer Brand Series & Model i Info About Caliper

19,5 "Caliper Type Knorr Bremse:SN6

SAF Axle 1

JOsT Axle 1 19,5

BPW Axle 2 19,5 ¢ X 50
SCHMITZ Trailer 1 19,5

Cross Referance

K001080DC 030

()] A

° e B
3 3 (N 5021171521 Renault
S ] SN6570RC | JAE0250402701 Jost 7 ' - e & . oy
e 2 SN6573RC 80536270603 BPW [y 1%, 3 L.~ ; - =11
2 8 SN6595RC 0024202701 Mercedes
0:’ = K013173K64 P 1561 1588 1674 1500 1536 1608
m =1 K013173K69 Schmitz

A SN6537AT SP1037091 Scania

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

SAF Axle 2 19,5 o

JOST Axle 2 19,5 ‘ iper Type  Knorr Bremse SN6
BPW Axle 1 19,5 50

SCHMITZ Trailer 2 19,5

Cross Referance

54 - !
00242026011 | \Mercedes |
5021171520 " Renault ' ~ ® & H

JAE0250402701 Jost |5 4 % L~4 . ==L |2

1561 1588 1674 1500 1536 1608

SN6580RC
SN6605RC

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper g ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

SAF Axle 1 19,5 "Caliper Type Knorr Bremse:SN6
GIGANT Axle 1 19,5

BPW Axle 2 19,5 ¢ X 5

SCHMITZ Trailer 1 19,5

SMB Axle 1 19,5 g‘itv —

Cross Referance

K110420
K110422
SN6539
SN6555

92850312 GIGANT
017257 Schmitz 1561 1588 1674 1500 1536 1608

3080008300 SAF

M200177-01 sve [y g, l% LA 150 |t Qb|I|

Benefit Code
Manufacturer Code
Vehicle Code

Truck & Trailer Brand Series & Model i Info About Caliper

SAF 2 | &

GIGANT 2 ‘ liper Type  Knorr Bremse SN6
BPW 1 ,

SCHMITZ Trailer. 2 19,5 {I[} A‘ 5

SMB Axle 2 19,5

@)

Cross Referance

0536270361" | \BPW

()
°
[} o [}
3 b K110419 3 7
= g K110421 S 0SW270RpZ P BPW T =5 12 - i i ® ® :
g E FRM200977-02  SMB  [3 ¢ 2 L~ Eae X N w2 =
S 5] SN6529 © 4
c 8 SN6545 492850322 GIGANT
3 g g 3080008400 SAF 1561 1588 1674 1500 1536 1608
=

@ benefitauto.com.tr o o @ Ibenefitcaliper ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

SAF Axle 1 19,5 "Caliper Type Knorr Bremse:SN6
GIGANT Axle 1 19,5

JOST Axle 1 19,5 ¢ X 5°

MERCEDES Axle 1 19,5

HENDRICKSON Trailer 1 19,5 @

Cross Referance Caliper Repair Kits

ercedes

()]
3 = = - s
3 3 SN6552 A9464202001 Mercedes
o] el '
3080002400 SAF R e ® a
3] 5 m—— | =
g 5 K011540 3080002421 SAF '8 ) 1.~4 | |am
® 5 SN6588 s 1%
3 £ K112947 F=49285165 GIGANT
3 g JAE0250402701 JOST 1561 1588 1674 1500 1536 1608
=

HB100411 Hendrickson

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

SAF Axle 2 19,5 i ‘Fe K B SN
GIGANT Axle 2 19,5 ‘ B o remse
JOST Axle 2 19,5 50

MERCEDES Axle 2 19,5

HENDRICKSON Trailer 2 19,5 @

Cross Referance

K003856
SN6569

K011541
SN6590

Is N I ™ I T .Sl |- i‘.ﬁpnl
3080003921 SAF

9285166 GIGANT 1561 1588 1674 1500 1536 1608
HB100410 Hendrickson

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

‘ 'Caliper Type Knorr Bremse:SN6
@ X o
Ciogn

BPW Axle 2 19,5

Cross Referance

K151741K50
SN6517
SN6562

§

KNORR-BREMSE

Ay E l‘i"" i 2] [e=] |

1674 1500 1536 1608

Benefit Code
Vehicle Code

Truck & Trailer Brand Series & Model i Info About Caliper

| 19,5 ) €
BPW Axle W 1 “nperType Knorr Bremse SN6

L
©)

Cross Referance

06 BP
05362706120 | \BPW

SN6552 1561 1588 1674 1500 1536 1608

[} [}

T T

[<] K019013 o S =| -

38 510536270813 % BPW - . ® @ 3

g Kistzazkso  Blosseamoera  Bew [ o] fet=] |~ 4 Lac B ol
iz 40536270670  BPW

@ 2

Manufacturer Code

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand = Series & Model

SAF Axle 1 19,5 "Caliper Type Knorr Bremse:SN6

Cross Referance

[
(=
(=
(<]
N
o

0
3080006250
N 4

Benefit Code
Manufacturer Code
Vehicle Code

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

i 19,5 P
SAF Axle 2 ‘I]per Type Knorr Bremse SN6

¢GXx s

Cross Referance

-4

1561 1588 1674 1500 1536 1608

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model

MERCEDES Atego

Cross Referance

K001178DC

K002063DC

K009914DC  SN6504AT
K015806DC  SN6551AT
K003792 SN6567RC
K013176 SN6628AT
K119388K51

K140754X50

Benefit Code
Manufacturer Code
Vehicle Code

Truck & Trailer Brand Series & Model

Mercedes
Mercedes
Mercedes
Mercedes
Mercedes
Mercedes

MERCEDES Atego

Cross Referance

@ benefitauto.com.tr o o @ Ibenefitcaliper

19

Mercedes 5 g%

[]
©
3 3 K119389K51 £20024203301¢ |\ W
S s SN6514 50024203601  Mercedes -
bt 2 SN6514AT Sy
= 780024204401
2 8 SNESHAT £80054201783 Merced
3 5 SN6557RC = ercedes
o £ SN6638AT 3 Mercedes
= Mercedes

Info About Caliper

¢ X
e

"Caliper Type Knorr Bremse:SN6

50

s 1Y)

Mercedes |

1561

s

LA 15 =] |2

1588

Info About Caliper

L4

1674 1500 1536 1608

,5 . -
‘ liper Type  Knorr Bremse SN6

1561

A 150 |2 [

1588

1674 1500 1536 1608

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



BRAKE CALIPER

Truck & Trailer Brand = Series & Model

MAN TGM 1 19,5 "Caliper Type Knorr Bremse:SN6

Cross Referance

Benefit Code
Manufacturer Code

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

‘Iiper Type Knorr Bremse SN6

¢Xx s

MAN TGM 2 19,5 |

Cross Referance

81508046479 |\ MAN
81508046591  MAN , - = = -
81508046713  MAN |5 4% % 4 . Eae X [ b o
81508046716  MAN

1561 1588 1674 1500 1536 1608

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper
MERCEDES Atego 1 19,5 "Caliper Type  Knorr Bremse:SN6
@ X o

Cross Referance

o § K013177 o e
KO001764AT Mercedes
° o K119394K51 °
S 3 K002060DC  k140757X50 S Mercedes - . % ® @ [t ey
£ £ K015805DC  gNg541AT 2 Mercedes [3 ¢ %, % .~ i = = i1 ]
S 8 K015899DC o 8
= ' 028456DC  SNO208RC E Mercedes
=
3 =4 K032578DC SN6560AT g Mercedes 1561 1588 1674 1500 1536 1608
I K119391K51 Mercedes

Disc Caliper

Truck & Trailer Brand Series & Model i Info About Caliper

19,5 . .
MERCEDES Atego 2 “hper Type  Knorr Bremse SN6

¢ X s

Cross Referance

[] ed
©
[} [=] [} N9 L Mareg )
Eo] o K119395K51 £-30024204101° ) N Mercedes
S 5 K140756X50 510024203008 Mercedes == | . s i ® @ —"
2 E SNG550AT 80024203501 Mercedes |5 5| F S I 19 = = |
2 8 SN6551AT 580024204101 Mercedes
3 g SN6568RC g Mercedes 1561 1588 1674 1500 1536 1608
= Mercedes

@ benefitauto.com.tr o o @ Ibenefitcaliper m ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

KNORR-BREMSE



KNORR-BREMSE

Truck & Trailer Brand = Series & Model

MERCEDES ATEGO

Cross Referance

Benefit Code
Manufacturer Code

Truck & Trailer Brand Series & Model

MERCEDES ATEGO

Cross Referance

Benefit Code
Manufacturer Code

@ benefitauto.com.tr o o @ Ibenefitcaliper

K012732
K015805
K028456
SN6551
SN6560

K012731
K015804
K028455
SN6541
SN6550

BRAKE CALIPER

1 19,5

Mercedes

Mercedes
Mercedes

19,5 . -
2 'Ilper Type Knorr Bremse SN6

¢GXx s

Mercedes

Mercedes - Y 1
Mercedes li 1Y @ L~ ;
Mercedes

)

1561 1588 1674

Info About Caliper

. 5 .
> e
1500 1536

1608

§ 97042033014 |\

599704205201 " Mercedes - 1 ] e & P

% Mercedes ; Y % ré/ i o> en

= Mercedes

g Mercedes 1561 1588 1674 1500 1536
Mercedes

|

1608

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




BRAKE CALIPER

Truck & Trailer Brand Series & Model i Info About Caliper

‘ 'Caliper Type Knorr Bremse:SN6
® % o
G

MAN TGM 1 19,5

Cross Referance

K009161
SN6556RC

Benefit Code
Manufacturer Code
Vehicle Code

Disc Caliper

KNORR-BREMSE

Truck & Trailer Brand Series & Model i Info About Caliper

¢ X s

"

| 19,5 | \ ¢ S
MAN TGM W 2 “hperType Knorr Bremse SN6

Cross Referance

Ed & 4 B [ B

1561 1588 1674 1500 1536 1608

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR-BREMSE

BRAKE CALIPER

Truck & Trailer Brand = Series & Model

MAN TGM 1 19,5

Cross Referance

[}

T

o s

o K109942 . 1 = @ r— e

£ SN6510 MAN s g% ; &/i = ] !

g SN6519 MAN

3 MAN 1561 1588 1674 1500 1536 1608
MAN

Truck & Trailer Brand Series & Model i Info About Caliper

‘Iiper Type Knorr Bremse SN6

¢Xx s

MAN TGM 2 19,5 |

Cross Referance

81508046474 |\ MAN |
81508046475%  MAN 7 . 5 e e —
81508046547  MAN |5 4% % L4 T =L 2P
81508046585  MAN
81508046587  MAN 1561 1588 1674 1500 1536 1608
81508046589  MAN

Benefit Code
Manufacturer Code
Vehicle Code

@ benefitauto.com.tr o o @ Ibenefitcaliper @ ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




	Sayfa 1
	Sayfa 2
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 7
	Sayfa 8
	Sayfa 9
	Sayfa 10
	Sayfa 11
	Sayfa 12
	Sayfa 13
	Sayfa 14
	Sayfa 15
	Sayfa 16
	Sayfa 17
	Sayfa 18
	Sayfa 19
	Sayfa 20
	Sayfa 21
	Sayfa 22
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 7
	Sayfa 8
	Sayfa 9
	Sayfa 10
	Sayfa 11
	Sayfa 12
	Sayfa 13
	Sayfa 14
	Sayfa 15
	Sayfa 16
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 7
	Sayfa 8
	Sayfa 1
	Sayfa 2
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 7
	Sayfa 8
	Sayfa 9
	Sayfa 10
	Sayfa 11
	Sayfa 12
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 7
	Sayfa 8
	Sayfa 9
	Sayfa 10
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 7
	Sayfa 8
	Sayfa 9
	Sayfa 10
	Sayfa 11

